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Preface

Accounting and finance have a language of their own with a variety of
statements and techniques that can mystify non-accounting colleagues.
This new edition, like its predecessors, is written primarily for those
non-financial students and managers who need to know about finance
and accounting in any organization. The aim is to cut through as much
of the jargon as possible and explain the various statements and tech-
niques in a straightforward manner that requires no prior training.

This seventh edition is being updated after a period of public debate
as to the manner in which a firm’s financial affairs and dubious financ-
ing strategies are reported. A number of company failures, alleged
wrongdoings among large companies, such as Enron, Hollinger and
Northern Rock, have posed various questions about the reliability of
published accounts.

From the mid-1990s the Accounting Standards Board introduced
Financial Reporting Standards (FRSs), which alongside Sarbanes-Oxley
have made great inroads into this practice. It will take some time before
all contentious areas are covered, but we now have 30 new standards
relating to the profit and loss account, the balance sheet, the cash flow
statement, and a number of specific items disclosed therein.

There are three parts to this book. The first part deals with the types
of statement found in the annual report and their interpretation. These
include profit and loss account, balance sheet, cash flow, inflation
adjustments and performance measures. Some chapters have been
rewritten to provide a sharper focus on each financial statement and to
reflect recent changes in accounting practice. Not only is the purpose of
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these statements explained, but also the principles underlying their
preparation and their limitations. A new chapter has been included here
on performance measures to embrace the topics of benchmarking and
non-financial indicators.

The second part of the book deals with the nitty-gritty of manage-
ment accounting and introduces terminology and techniques likely to
confront an operational manager. To play a team role in the planning
and control of those resources for which they are held responsible,
managers need to know about the costs of products and the running
costs of their departments. We therefore need to look at how firms cost
products and services before progressing to the planning and control
techniques of standard costing and budgetary control. Many decisions
are based on an ad hoc analysis of costs to determine the best course of
action and marginal costing is an appropriate technique here.

The final part of the book deals with the techniques of financial
management, which concentrate on the efficient use of capital. This
covers the cost of capital for the particular capital structure adopted by a
business; the management of working capital; and the procedures for
capital investment appraisal. Also included in this third part of the book
are chapters on business taxation and overseas transactions.

The efficiency with which a company carries out all these operations
is reflected in its profit and loss account and ultimately in the value of
that company’s shares. Financial management also has wider ramifica-
tions in a company’s ability to attract new capital and offer career devel-
opment opportunities to its personnel.

Most of the book is relevant to any form of business organization, large
or small, in both the public and the private sector. Employees of public
bodies will, however, find the chapters on financial ratios, share values
and taxation largely irrelevant, although their organization may come
into contact with the private sector or with its accounting techniques.

I'am very pleased that this book has been used for more than 20 years
as an introductory text on finance and accountancy for non-financial
students and managers. It is recommended reading on a variety of busi-
ness and management courses, and technical degree courses, at a
number of colleges and universities.

I hope you enjoy this new seventh edition.

Vi
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1 Financial
reporting

INTRODUCTION

The world of accounting is in turmoil. New accounting standards are
being pressed into use that will at a stroke cut the value of a company
such as Shell by £2.5 billion, while adding a similarly large sum to its
liabilities to account for ‘black holes” in pension schemes. Small wonder
that forensic accounting is the hottest area in the profession today and
major acountancy firms are recruiting former FBI agents onto their
payrolls. Companies have been forced to pay their auditors significantly
more in fees because of new accounting and corporate governance
rules. We can’t pretend that this book will do any more than give you an
appreciation of how complex the accounting world has become, at one
level, whilst fundamentally remaining much as Luca Pacioli left it when
he put his pen down on the first accounting textbook 600 years ago.
This book is all about accounting and the uses to which it is put.
When discussing any topic it is advisable that both writer and reader are
on the same wavelength, so I repeat here the Chartered Institute of
Management Accountants’ (CIMA's) definition of accounting as:

the classification and recording of monetary transactions;

the presentation and interpretation of the results of those transac-
tions in order to assess performance over a period and the financial
position at a given date;
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the monetary projection of future activities arising from alternative
planned courses of action.

To illustrate, let us consider a company’s annual accounts. Manual or
computerized bookkeeping systems are used to record all monetary
transactions throughout the year. These transactions are grouped and
classified before presentation in the two key financial statements of
profit and loss account and balance sheet. The profit and loss account
measures financial performance over the year while the balance sheet
states the financial position as at the year-end. Looking ahead now, top
management will prepare for their own internal use a budgeted profit
and loss account and balance sheet, based on a set of projected financial
transactions for the coming year.

USERS OF ACCOUNTING INFORMATION

The aim of all accounting information is to provide the particular user
with relevant and timely data to make decisions. Who are these users of
accounting information and what decisions do they need to take?
Possible users include:

shareholders;
owner-managers;
management;
suppliers;
customers;
employees;
government;
competitors;
lenders.

1. Shareholders of limited companies will be influenced in their decision
to remain investors or to increase/decrease their holding by receiv-
ing information about the financial performance and financial posi-
tion of their company. This usually occurs twice a year in the form of
a profit and loss account and a balance sheet relating to the first half-
year and, later on, the full year.

2. Owner-managers of non-incorporated businesses will require the
above information but they will also be privy to more detailed and
more frequent information about the business’s financial affairs.
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3. Management in companies range from director level down to super-
visor level. Each person requires accounting information to help
them in their role. Supervisors may be concerned with operating
costs for a very small part of the undertaking. Directors need to
control the overall performance of the company and make strategic
financing and investment decisions. Middle management need
feedback on whether they are meeting their financial targets.

4. Suppliers need to assess the creditworthiness of potential and exist-
ing customers when setting the amount and period of credit
allowed. This will partly, if not mainly, be based on the financial
history of each customer so the supplier’s accountants will assess
the latest profit and loss account and balance sheet. Other data on
payment history may be obtained from credit agencies, for example,
Dun & Bradstreet, to assist in this decision.

5. Customers also need to be reassured, in this case to minimize the risk
of their supplies drying up and disrupting their own output. Firms
entering into a joint venture will also need mutual reassurance.
Similar checks to those outlined above for suppliers will need to be
carried out. This approach is outlined in Chapter 18.

6. Employees and their representatives have a vested interest in the
financial health and future prospects of their employer. They rely on
an assessment of the published accounts by experts for this.

7. Government levies tax on the profits earned by businesses and value
added tax on the sales value of most industries. Tax authorities rely
on the information provided by companies for these purposes.

8. Competitors can make some comparisons, for example, sales per
employee, from published accounting data in a process known as
benchmarking. This may provide clues to areas where performance
may be improved particularly if explanations of differences in operat-
ing systems can be obtained.

9. Lenders need to be assured that their capital is safe and that the
borrowing company can service the loan or overdraft adequately, so
again the financial statements of profit and loss account and balance
sheet will be examined from this viewpoint.

It can be concluded from the above that most users of accounting infor-
mation are drawing on that provided in the published accounts. Only
management have access to more detailed, non-published financial
information within a company.
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BRANCHES OF ACCOUNTING

Different users of accounting information will require different infor-
mation and use it for different purposes. Accounting can be broken
down into three main branches:

financial accounting;
management accounting;
financial management.

1. Financial accounting is the preparation of financial statements
summarizing past events, usually in the form of profit and loss
accounts and balance sheets. These historic statements are mainly of
interest to outside parties such as investors, loan providers and
suppliers.

2. Management accounting is the provision of much more detailed infor-
mation about current and future planned events to allow manage-
ment to carry out their roles of planning, control and
decision-making. Examples of management accounting information
are product costs and cost data relevant to a particular decision, say,
a choice between make or buy. Also included in management
accounting is the preparation and monitoring of budgeted costs
relating to a product, activity or service. All the above management
accounting information is rarely, if ever, disclosed to outside parties.

3. Financial management covers the raising of finance and its deploy-
ment in the various resources needed by a business, in the most effi-
cient way. The cost of capital is influenced by both the capital
structure adopted as well as the riskiness of the investments under-
taken. Part 3 is devoted to this theme.

Within these three broad areas of accounting there may be further sub-
sets of accounting relating either to one specific activity, or across the
whole spectrum. Examples of these are:

treasury;
taxation;
audit.

1. Treasury is a finance function usually only found in a very large
company or group of companies. It embraces the management of
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bank balances so as to raise the maximum interest on positive
balances, or minimize the payment of interest on negative balances.
This might entail lending money overnight on the money markets.
Also included here is the management of exchange risk where finan-
cial transactions are denominated in foreign currencies.

Taxation in a small company will be included in the duties of the finan-
cial accountant who may need to call on outside professional advice
from time to time. Corporation tax on company profits is not straight-
forward and the system of capital allowances can be complex for some
large companies, groups of companies, or multinational companies.
Mention should also be made of the ramifications of value added tax
(VAT) and the taxation of employee and director benefits in kind. A
specialist accountant, or team of accountants, is often appointed in
large companies to minimize the pain and maximize the gain from the
various taxes and allowances affecting such organizations.

Audit is another accounting function mainly found in larger organi-
zations. Internal auditors monitor that accounting procedures,
documents and computerized transactions are carried out correctly.
This work is additional or complementary to that undertaken by
external auditors who take a broader approach in providing an inde-
pendent report to shareholders in the annual report.

PROFESSIONAL ACCOUNTANCY BODIES

A number of failed attempts have been made in recent years to unify the
accountancy profession in the UK by merger of various member bodies.
The aims of any such amalgamation may be seen as the need for the
profession to speak with one voice, at a time of criticism of their work
resulting from some spectacular company failures in recent years. Also
important is the possibility of reduced administration costs if there were
not so many separate bodies and the opportunity to rationalize student
training and continuing professional development.

All qualified accountants in the UK belong to one (or more) of the

following professional bodies:

The Institute of Chartered Accountants comprises three separate
bodies representing England & Wales (ICAEW), Scotland (ICAS),
and Ireland (ICAI).

The Association of Chartered Certified Accountants (ACCA).
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The Chartered Institute of Public Finance and Accountancy (CIPFA).
The Chartered Institute of Management Accountants (CIMA).

Only members of the first two groups, referred to as chartered and certi-
fied accountants respectively, are allowed to act as professional auditors
when reporting back to shareholders in the annual accounts. CIPFA
members are usually found in local government, central government
departments and quasi-government bodies. Management accountants
belonging to CIMA are found in trade, industry and commerce where
the emphasis is on the provision of relevant and timely information to
management at various levels.

Other than the legal barrier restricting professional audit work to
chartered and certified accountants, the only other limitations to a
professional accountant entering into a particular type of accounting
relate to training, experience and aptitude. For example, chartered
accountants can be found in trade and industry as financial accountants
or management accountants while CIMA members may hold the post of
financial accountant or financial director.

UK GENERALLY ACCEPTED ACCOUNTING
PRACTICE (UK GAAP)

When preparing financial statements for its own internal use, a
company is not obliged to follow any prescribed formats or methods of
calculating individual figures. This is not the case with the preparation
of the financial statements contained in the annual accounts and circu-
lated to shareholders and other interested external parties. In the UK
these published accounts have to conform with certain regulations, and
specifically with:

company law as laid down by Parliament in various Companies Acts,
notably 1985, 1989 and 2006 — the longest act ever passed by
Parliament (www.nortonrose.com>knowledge>publications>The
Companies Act 2006 — an overview);

accounting standards which comprise a set of professional rules
governing the detailed calculations and presentation of information
in published financial statements;
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stock exchange regulations augmenting the above in the case of a
listed company:.

UK GAAP incorporates the detailed requirements of all of the above, but
it also embraces other accounting conventions that are generally
accepted by the profession. The term ‘UK GAAP’ has no statutory or
official backing, which is not the case with the GAAP of some other
countries. One aspect that is universal is that GAAP is constantly chang-
ing, primarily as new accounting standards are introduced and as the
pressures for international harmony increase.

SARBANES-OXLEY

This Act, also known as The Public Company Accounting Reform and
Investor Protection Act 2002, was introduced in the United States in
response to various accounting scandals such as that at Enron. The UK
equivalent — The Companies (Audit, Investigations and Community
Enterprise) Act 2004 — has made its impact in the introduction of new
accounting standards.

ACCOUNTING STANDARDS

Accountancy standards are a most important source of guidance in the
detailed presentation of accounting information to external parties. All
professional accountants are obliged to follow the rules laid down in
Financial Reporting Standards (FRSs) when preparing or auditing
company accounts for publication.

These standards have changed significantly since 1990 when a new
organization structure was introduced. The aim is for companies to
provide more meaningful information that is less capable of manipula-
tion by creative accounting. This reorganization was given added
impetus by some well-known failures such as Enron, Parmalat and
others, though some of these were the victims of outright fraud as
opposed to creative accounting which in itself is (just) legal.

The regulator for standard-setting in the UK and compliance moni-
toring of those standards is the Financial Reporting Council (FRC), a
unified, independent body that:
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Figure 1.1 The Financial Reporting Council structure showing subsidiary
boards.

sets, monitors and enforces accounting and auditing standards;
oversees the regulatory activities of the professional accountancy
bodies, and regulates audit; and

promotes high standards of corporate governance.

Initially, the FRC was established in 1990 to promote good financial
reporting through its two subsidiaries, the Accounting Standards Board
(ASB) and the Financial Reporting Review Panel (FRRP). The member-
ship of the Council includes wide and balanced representation at the
highest levels from the business, investor, professional and other
communities interested in corporate reporting and governance.

Ultimately the FRRP has the power to apply to the courts for changes
to be made to a company’s published accounts. So far, the existence of
this sanction has been sufficient without it having to be carried through,
so that any required changes have been made voluntarily!

International accounting standards

In the UK there is a large degree of conformity of our domestic stan-
dards with the international standards and the Accounting Standards
Board considers each new international standard carefully before decid-
ing whether or not to include it in the domestic standard. Topics that
have been the cause of disagreement in the recent past are the treatment
of goodwill, deferred tax and pension costs.
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The International Accounting Standards Board (IASB) announced on
22 November 2004 the membership of a new international working
group that it has established jointly with the United States Financial
Accounting Standards Board (FASB). The working group has been set
up to help the boards in their joint project to establish standards for the
presentation of information in the financial statements that will
improve the usefulness of that information in assessing the financial
performance of a business enterprise. The working group consists of
senior professionals with extensive experience in and responsibility for
the preparation, analysis, audit and regulation of financial statements.

However, to say harmony has been achieved in the accounting stan-
dards world would be misleading. The battle has in some ways only just
begun.

THE ANNUAL REPORT AND ACCOUNTS

The contents of the annual report and accounts for a listed company,
being one that is quoted on a stock exchange, is more comprehensive
than the requirements of unlisted companies, which reduce in line with
their size. Disclosure requirements of listed companies derive from
three sources:

statutory law embodied and consolidated in the Companies Act
2006;

accounting standards as laid down in FRSs and SSAPs (Statements
of Standard Accounting Practice);

listing regulations specified by the Stock Exchange.

The following main items are disclosed in the annual report and accounts:

1. Chairman’s statement — a broad review of progress, changes in strat-
egy and management and a guide to future prospects. This may be
supplemented by a chief executive’s review of each individual busi-
ness’s performance.

2. Operating and financial review — a detailed commentary on the finan-
cial results and influential factors.

3. List of directors — details of service, responsibilities and other director-
ships.
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. Directors’ report — a formal report on specific required items, eg divi-

dend declaration, principal activities, share capital and substantial
shareholdings, political and charitable contributions, directors’
shareholdings, employment policy, creditor payment policy, close
company status and appointment of auditors.

. Report of the remuneration committee — policy statement on how the

total remuneration package of executive and non-executive direc-
tors is set.

. Corporate governance — a statement of compliance, or otherwise, with

the Code of Best Practice on board structure and directors’ remuner-
ation. The original report by Cadbury was later supplemented with
reports by Greenbury and then Hampel and was finally published
by the London Stock Exchange in June 1998 after seven years of
discussion.

. Auditors’ report — a statement of auditors’ responsibility and their

report on whether or not the financial statements give a true and
fair view of the state of affairs.

. Financial statements — comprising consolidated profit and loss

account, balance sheet, cash flow statement, statement of total
recognized gains and losses and parent company balance sheet
only.

. Notes to the financial statements — additional breakdown and analysis

of figures appearing in the main financial statements.

Historic record of financial performance — a 10-year summary of the main
financial figures and ratios reflecting profitability, dividends and
shareholders’ funds.

Notice of meeting — notice of the time and venue of the annual general
meeting and the business to be conducted.

The Investor Relations Society (www.irs.org.uk>IR Best Practice) make
an award each year to the company producing the best set of report and
accounts.

ACCOUNTING CONVENTIONS

An accounting convention is a basic principle or concept underlying the
preparation of financial accounts. These statements of profit and loss,
balance sheet and cash flow are usually prepared monthly for manage-
ment purposes, but particular emphasis is placed on the annual and
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half-yearly accounts which are the only ones that inform shareholders
and other interested external parties.

Although the basic recording of financial transactions using double
entry bookkeeping is a mechanical exercise, there is, however, also a
subjective side to accountancy. The production of the financial accounts is
not totally automatic and various rules, principles or conventions are
followed in addition to statutory and financial reporting standard
requirements. By way of illustration, let us consider some examples
where conventions are required, before we can proceed to answer them.

Examples

1. A company buys a new machine for £10,000 and expects it fo last for five
years. Does it charge this cost fo the profit and loss account in the year it buys
it, or in the year when it will be scrapped?

2. A refail store buys a quantity of washing machines one month for £4,000
and sells three-quarters of them for £3,600 in the same month. The remain-
der are sold in the following month for £1,200. Should the total cost of
£4,000 go into the first month's profit and loss account or should it be
£3,0002

3. Now suppose that the washing machines in the previous example were
bought on credit and the agreed credit terms with the supplier do not require
payment until the end of the following month. Should the cost to go into the

first month's profit and loss account be nil, or £4,000, or £3,0002

Answers to these questions will be given after discussing the main
accounting conventions used by accountants. These are now listed and
then each one considered separately:

separate entity;

going concern;

money measurement;

double entry bookkeeping;
realization;

matching;

accrual;

capital and revenue expenditure;
depreciation;

stability of the value of money;
historic cost;
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materiality;
consistency;
objectivity;
prudence.

1. Separate entity. Every business is regarded as an entity on its own. We
need to keep its financial transactions separate from those of other
businesses, and from the personal transactions of its owners, to
enable accountants to measure the financial performance of each
business.

2. Going concern. When preparing financial statements, the assumption
is made of continuity; that the business is a ‘going concern’. If a firm
ceases to trade, its possessions are sold off to the highest bidder, but
it would be very unlikely they would fetch their cost price. Buildings
may fetch more, but stocks, work-in-progress and specialist equip-
ment may fetch much less on a forced liquidation. Unless any infor-
mation is known to the contrary, the assumption is made that a
business will continue trading. This is particularly important regard-
ing the valuation of assets which might have very different values
placed on them in the event of a liquidation.

3. Money measurement. Accountants can only record transactions that
have a money measurement. Money is the means of adding transac-
tions together, which is only possible when we can express transac-
tions in money terms. For this reason, internally generated goodwill
never appears in a list of assets as its value is unknown until
someone wants to take over the business and buy the goodwill.
Only if we buy up another company and pay £x for its goodwill will
it appear as a financial transaction.

4. Double entry bookkeeping. Most people have heard of this even if they
are hard put to define it precisely! It refers to the dual aspects of
recording financial transactions. By this is meant that every transac-
tion is recorded twice, in two different ledger accounts, recognizing
the giving and receiving aspects separately. This topic is examined in
the following chapter.

5. Realization. With the exception of some retail trade, most business-
to-business sales are done on credit rather than for immediate cash
settlement. It is therefore important to define when exactly a sale
takes place. Is it when goods or services change hands or when the
cash is finally received by the supplier? The realization concept
adopts the former timing, so we place a sale in the month the goods
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and services are delivered to the customer, regardless of when the
cash is received.

Matching. This principle requires accountants to match the cost of
sales against the value of those same sales in the same time period
when determining the profit or loss. In the first example at the
beginning of this section, the cost of sales is £3,000 and is matched
against the sales value of £3,600 to show a gross profit of £600. The
unsold goods costing £1,000 are carried forward as stock and shown
in the next month’s profit and loss account when they were sold for
£1,200, thus realizing a profit of £200. The answer to the third
example is the same £3,000 based on the accrual convention below.

7. Accrual. Expenses which relate to any accounting period must be
included in that period’s profit and loss account irrespective of
when they are paid for. If an invoice has been received for goods or
services supplied to the business, the bookkeeping system will auto-
matically include that expense in the profit and loss account.
However, if the goods or services have been received but no invoice
received by the period end, then an “accrual’ is raised to get the cost
into the bookkeeping system. Conversely, if an expense has been
paid for but not yet received, then an adjustment is made for the
prepayment. The two principles of realization and accrual are
crucial to measuring business performance accurately over short
periods of time.

8. Capital and revenue expenditure. The expenditure that is consumed
and has no value remaining is charged to the profit and loss account
as revenue expenditure and matched against revenue or income.
Some expenditure, however, lasts for many accounting periods.
Buildings and equipment are examples of items which it would be
unfair to charge in full to any one accounting period. This is deemed
to be capital expenditure and is placed in the balance sheet.

9. Depreciation. The value of most capital expenditure reduces as the
assets wear out over time. Depreciation is the process of reducing
the value in the balance sheet by transferring part of it to the profit
and loss account each period. Hence capital expenditure becomes
revenue expenditure bit by bit over the asset’s expected lifetime.
This process is explained more fully in Chapter 3. Referring back to
the first example earlier, it should now be appreciated that neither of
the solutions offered as alternatives is correct. The £10,000 cost of the
equipment should be depreciated by, say, £2,000 in each of the next
five years.
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10. Historic cost accounting. In general terms, accountants ignore infla-
tion and assume the stability of money in financial statements. We
tend to prefer the certainty of what things cost, to some other subjec-
tive estimate. We may amend this approach for certain items, such as
land and buildings, and revalue them from time to time. Current cost
accounting is when due allowance for inflation is made on all finan-
cial transactions in the profit and loss account and balance sheet.
Historic cost accounting, however, is the norm, not least because it is
adopted by HM Revenue & Customs.

11. Materiality. This convention might be used to overrule a strict inter-
pretation of another convention. For example, the installation of coat
hooks in a room is an improvement of an asset and should be treated
as capital expenditure and depreciated each accounting period.
Such administrative effort for a trivial sum of money is pointless, so
businesses usually set a minimum sum below which capital expen-
diture is treated as revenue expenditure for expediency. Another
example of materiality might be not bothering to count and value
small amounts of stationery left at the end of each period to include
them in stocks. In this case stationery is charged as revenue expendi-
ture on purchase regardless of when it will be used.

12. Consistency. Where there is a subjective judgement made in account-
ancy, this will be adhered to from one year to another. An example of
this might relate to the method used to calculate depreciation.
Alternative methods are available, as discussed in a later chapter, but
the chosen method should be consistently applied year after year.

13. Objectivity. Accountants try to produce financial accounting state-
ments as objectively as possible, but as a number of items require an
element of judgement this may not always be achieved.

14. Prudence. A salesperson will count a sale when an order is received
whereas the realization concept used by accountants requires the
product to first be delivered to the customer. This is one example of
prudence where a profit is not anticipated before it is realized. This
might seem at odds with the treatment of a loss to be incurred in the
future when an accountant provides for the estimated loss immedi-
ately. Accountants view prudence as anticipating a loss but never
anticipating a profit.

All these accounting conventions find their way into the financial state-
ments of profit and loss account and balance sheet. We first need to find
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out how all the information going into those statements is recorded, and
then see how we sort out which information goes into which statement.
These topics are discussed in the following chapter.

Further reading

Glautier, MWE (2004) Accounting Theory and Practice, FT Prentice Hall,
Harlow.

McNicholas, E (2007) Accounting Standards: A Guide to UK and
International Standards, Spiramus Press, London.

Myddleton, D (2006) Evolutions or Impositions of Accounting Standards,
Institute of Economic Affairs, London.

Reid, W and Myddleton, R (2005) The Meaning of Company Accounts,
Gower Publishing, Aldershot.

Financial Reporting for Smaller Entities can be downloaded from the
Accounting Standards Board (www.trc.org>ASB>FRSSE)

Self-check questions

1. Name the two key financial statements that measure a busi-
ness’s financial performance and financial position.

2. List as many users of accounting information as you can and
the purposes to which they put that information.

What are the main two or three branches of accountancy?
What does the acronym GAAP stand for?

Which accounting standards apply to smaller entities?

ISR L

What are the contents of a listed company’s annual report and
accounts?

7. List as many accounting conventions as you can, stating their
purpose.



2 Financial
recording

INTRODUCTION

To enable a business to produce financial statements of any kind it is essen-
tial that every financial transaction is meticulously recorded. This aspect of
accounting is very mechanistic and requires a thoroughly systematic
approach, regardless of whether the bookkeeping is done manually in
ledgers or by using computers. There are two systems of bookkeeping to
consider: single entry bookkeeping and double entry bookkeeping.

SINGLE ENTRY BOOKKEEPING

If you have ever been the treasurer of a small club or society, you most
probably kept your financial records in a small cash book, entering cash
receipts on the left-hand page and cash payments on the right. In both
cases the date and a brief description would be given against each item.
A receipts and payments account is a summary of such a cash book.

This statement is prepared by small, non-profit-seeking organiza-
tions with few, if any, assets and liabilities. The cash balance at the begin-
ning of the accounting year heads the receipts and the cash balance at
the year-end is the balancing figure between total receipts and total
payments. A typical example of a receipts and payments account for a
drama club is shown in Figure 2.1.

18
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Cash receipts £ Cash payments £
Cash balance at start 257 Hire of hall 50
Members’ subscriptions 50 Hire of costumes 180
Sale of tickets 385 Refreshments 45
Printing and stationery 65
Advertising 120
Sub-total 460
Cash balance at end 232
Total £692 Total £692

Figure 2.1 St Mary’s Drama Club receipts and payments account

Many small businesses use a system of recording similar to that
described above for the small club or society. In their case a larger cash
book, say with 16 columns each side, is required to analyse the purpose
of each receipt and payment. Figure 2.2 gives a simplified example of
this approach.

The great advantage of this system of recording is its simplicity. You
do not have to be a trained bookkeeper to keep records this way! If the
small business comes within the VAT system, some further analysis of
sales and purchases will be required. A decision will have to be made
whether to treat the VAT tax point as at the time of sale or purchase, or at
the time of cash settlement at some later date. HM Revenue & Customs
(HMRC), the newly (April 2005) united Inland Revenue and Customs
and Excise Departments, allow small businesses to choose either point,
but larger organizations must adopt the former.

Receipts Payments
@ | 2
@ s | S
2 s
S g 3| s S @ 3§
= 2w | = > X | @
Q b @\ [ _Q. 1 [7. L Q.
o AR " -y o Iy [ “
g |3 gl |3 s|olg|g
q Q 85|68 |4 q €|2/8 |8
May 10 |F. Smith 200 May 11|B. Gas 320
11|J. Brown 175 11|ABC Co.| 510
11|Cash sale| 25 13(XYZ Co. | 293
14|Loan 1,000 14|Payroll 990

Figure 2.2 Small company cash book
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There are some disadvantages of this simple way of recording transac-
tions. Most firms buy and sell on credit. When a statement of cash
receipts and payments is prepared, it will not disclose the amount of
money still owing to suppliers or the amount owed by customers. This
will be the case at both the beginning and the end of the year. Nor is any
distinction made between expenditure on running costs that have been
used up in the period, as opposed to expenditure on such assets as
equipment, which still have value remaining for future use.

We need to take account of all these aspects when preparing state-
ments describing a firm’s financial performance and position. It is for
this reason that most business organizations use a system of double
entry bookkeeping. This system automatically discloses amounts owing
and other assets and liabilities so all information is readily available to
prepare the financial statements.

DOUBLE ENTRY BOOKKEEPING

Most companies employing more than a handful of staff use the system
of recording called double entry bookkeeping. This system records both
cash and credit transactions as they occur at their different times. The
name double entry derives from the fact that each individual transaction
is entered twice, recognizing two aspects. These two aspects are referred
to by accountants as debits and credits.

Double entry bookkeeping has a long history. Back in 1494 an Italian
monk called Pacioli documented a system of double entry bookkeeping
in a work entitled ‘Summa de Arithmetica, Geometria, Proportioni et
Proportionalita” involving the use of journals and ledgers.

In the old days when firms recorded transactions in books or ledgers,
the left side was the debit side and the right the credit side. The left side
got all expense items and assets of value to the business. The right side
got the sources of income and any liabilities to repay money in the
future. Cash received went on the left and cash paid out on the right. To
summarize so far:

Debit side Credit side

Expenses Income

Assets (including customer Liabilities (including owing to
debts) suppliers)

Decrease in a liability Decrease in an asset

Cash received Cash paid out
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Accounts are opened in a ledger for each item of expense, asset, income,
and liability. Think of an account as a letter T, with the name of the account
on the cross bar and any entries of figures on the left or right side of the
vertical bar. Each financial transaction is entered in two separate accounts in
a double entry system. One entry will be on the debit (left) side in one
account while the other entry will always be on the credit (right) side of the
second account involved. Let us look at a few simple examples.

Example
Paid £200 wages on 2 Aug with money from the bank account.

The two T accounts involved here are the wages account, abbreviated fo
wages a/c and the bank a/c. Wages are an expense so the eniry goes on the
debit side of the wages a/c. Money paid out for any reason is always a credit
entry in the bank a/c as it is shown here. You will notice that the name of the
other account involved is always given as a cross reference and as an explana-
tion of what happened, and the date is included to record when it happened.
The two enfries will now appear as:

Wages a/c || Bank a/c
2 Aug Bank a/c 200 “ ‘ 2 Aug Wages a/c 200

Example
The purchase of £900 goods on credit from A. Supplier on 5 Aug.

The two accounts involved here are the purchases a/c [an expense ifem) and that
of A. Supplier a/c (a liability). Nofe that in practice every credit customer and every
supplier will have their own separate account in the sales ledger and purchase ledger
respectively, so that we can keep frack of all amounts owed to and by the business.

Purchases a/c || A. Supplier a/c
5 Aug 5 Aug
A. Supplier 900 Purchases 900

Example
The part payment of £600 to A. Supplier on 29 Aug.

The two accounts now involved are A. Supplier a/c which gets a debit entry
to reduce the liability, and the bank a,/c which gets a credit entry for cash paid out.

A. Supplier a/c [ Bank a/c
29 Aug 29 Aug
Bank 600 A. Supplier 600
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Trial balance

At the end of an accounting period, say at the end of a month, we need
to total up each account to find out how it stands. If entries are only on
one side of the account, as will be the case with wages, we add up the
weekly entries and arrive at the total or balance as it is called. When an
account has entries on both sides, as will A. Supplier’s a/c and the bank
a/c in the above examples, we need to deduct the items on the smaller
side from the larger side to find the balance.

In the case of the A. Supplier a/c, this balance will be £300 on the
credit side as there is still a remaining liability of £300 to pay some time
in the near future. This is illustrated now:

A. Supplier a/c

Aug 29 Bank 600 5 Aug Purchases 900
31 Aug Balance 300

All accounts are balanced off at the end of the month, or other account-
ing period. All accounts with a balance on them (some may not have) are
then listed in what is called a trial balance. In the few accounts that we
entered transactions above, the trial balance would come out like this:

Trial balance as at 31 August

Debit balances Credit balances
Purchases a/c 900 Bank a/c 800
Wages a/c 200 A. Supplier a/c 300
£1,100 £1,100

The trial balance must always balance because we have entered each
transaction in two separate accounts, on opposite sides, and in balanc-
ing each account have cancelled out a like amount on both sides. This is
some proof of numerical accuracy, but it does not prove we have
entered amounts in the right accounts! It is also possible to enter an
identical wrong amount in both accounts!

The T accounts are not seen as such when computers are used to
record double entry, but the basic principles of debit and credit are still
observed. Accounting packages are available to do all the double entry
bookkeeping, extract the trial balance and go on to produce the profit
and loss account and balance sheet statements. As students or
managers, our interest in bookkeeping is not for its own sake but as an
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explanation of why a balance sheet balances and where all the informa-
tion comes from to produce the monthly and annual accounts.
This can be shown diagrammatically as in Figure 2.3.

Trial balance
Debit balances Credit balances
on accounts on accounts
Expenses Income Assets Liabilities
Profit and loss a/c Balance sheet

Figure 2.3  Trial balance leading to final accounts

Let us now take the example of the trial balance shown in Figure 2.4
relating to a market trader and produce a profit and loss account and
balance sheet from it. Profit is the difference between income and
expenses, but to keep the double entry principle going we will show the
second entry of profit as an increase in the business owner’s capital.
This is true if the owner retains all the profit in the business.

No matter how large the organization, these principles still apply,
although more detailed descriptions of expenses, assets and liabilities
will result in more complex statements than those in Figure 2.4. The type
of business organization also affects the title and layout of the state-
ments. We look at the details of the profit and loss account and balance
sheet in the following chapters.
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Trial balance

Debit balances

Cash a/c

Purchases a/c

Wages a/c

Rent a/c

Equipment a/c
Customer a/c (debtor)

400
4,000
1,300
1,000
1,500

700

£8,900

Credit balances

Capital a/c
A. Supplier a/c (creditor)
Sales a/c

Profit and loss account

Expenses

Purchases

Wages

Rent

Total expenses
Profit (8,200-6,300)

4,000
1,300
1,000
6,300
1,900
£8,200

Income

Sales

Balance Sheet

Assets

Equipment
Debtors (A. Customer)
Cash

1,500
700
400

£2,600

Capital liabilities

Original capital
Retained profit

Total capital

Creditor (A. Supplier)

Figure 2.4 Final accounts from trial balance

CHART OF ACCOUNTS

In computerized accounting systems a particular ledger account is identi-
fied by a unique number with the whole list of numbers being referred to
as the chart of accounts, somewhat akin to a telephone directory. The UK is
different to most other European countries in that we have no national
chart of accounts and therefore no requirement for all organizations to
use a standardized numbering system for financial accounts. Each
company can invent its own unique chart of accounts although member
companies of a group of companies may find it useful to use a common
system to aid consolidation.

500
200
8,200

£8,900

8,200

£8,200

1,900
2,400
200
£2,600
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An example can be found in France with their Plan Comptable
General (PCG), which is a standardized numbering system or chart of
accounts plus account formats which are required to be used by all
companies. Other numbering systems can be used in France, but they
must be capable of conversion back to the national system code by code.

Other European countries have similar broad structures, but these
may differ in the detailed analysis. For example, Belgium, France and
Spain use the same seven broad classes:

Class 1 Equity, provisions and long-term loans.

Class 2 Fixed assets.

Class 3 Stocks, work-in-progress and long-term contracts.
Class 4 Debtors and creditors.

Class b Investments and cash.

Class 6 Purchases and expenses.

Class 7 Revenues.

Each of these classes is broken down into more detail by a further digit
for each sub-class. For example, Class 3 in Belgium accords 30 to raw
materials stocks, 32 to work-in-progress, etc, but these code numbers do
not necessarily have the same meaning in the other two countries.
These European charts tend to have statutory backing and are geared
up to producing financial accounting statements in the stipulated form.
These differ from the UK also in that we analyse costs objectively by func-
tion (eg distribution costs, administrative costs, etc) while they analyse
costs subjectively by source (eg wages, salaries, materials, depreciation,
etc). While these broad generalizations hold good, new global accounting
standards are making inroads into this aspect of accounting too.

ORGANIZING THE BOOKS OF ACCOUNT
Ledgers

Each account code represents an individual T account. In a manual
accounting system used by the smallest of businesses all T accounts may
fit into one book or ledger. In most businesses, however, the volume of
transactions, and the need for more than one person to have access to
make entries, means that similar transactions are entered into one
particular ledger. This is also true of computerized accounting systems.
Typically there are three main ledgers:
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sales ledger;
purchases ledger;
nominal ledger.

The sales and purchases ledgers contain the T accounts for each individ-
ual credit customer and supplier while the nominal ledger contains the
T accounts for total sales, total purchases and every other expense,
income, asset and liability.

Journals

Double entries are not made directly into the ledgers, but are first
entered in a book of prime entry from which postings to the two relevant
ledger accounts are made later. These books of prime entry are:

sales day book or sales journal;

purchases day book or purchases journal;
journal;

cash book(s).

The sales and purchase day books act as a kind of diary where all sales
and purchases are entered in chronological order. At a later date each
transaction is entered in the named account of the customer or supplier
in the sales or purchases ledger respectively while the total of a batch of
similar transactions is entered in the sales account or purchases account
in the nominal ledger, so completing the double entry. Since the advent
of value added tax (VAT) some years ago, a further entry in the sales and
purchase journals is needed to record these tax amounts which are
posted to the relevant side of the VAT account in the nominal ledger in
batch totals. In this way large volumes of individual sales and purchases
are kept out of the nominal ledger by only posting batch totals for a day
or a week at a time.

In a similar way, large amounts of cash transactions are first entered in
a cash receipts book or a cash payments book, both of which act as books
of prime entry and as ledgers. These cash transactions are later posted to
the named account of the customer or supplier in the sales ledger or
purchases ledger respectively. This again completes the double entry.

The journal proper is a book of prime entry used to make the initial
record of non-routine transactions which are later posted to two ledger
accounts to preserve the double entry principle. Typical entries in a
journal might relate to:
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the correction of errors;

adjustments for prepayments and accruals;

the creation of provisions for bad debts or any other purpose;
adjustments for stocks on hand at the end of an accounting period.

We have now seen how financial transactions are routinely recorded in
journals and ledgers, and how a chart of accounts identifies each ledger
account in a double entry bookkeeping system, all enabling the final
accounts to be produced. The following chapters now examine each of
these financial accounting statements in turn.

Further reading

Barrow, P and Epstein, L (2007) Bookkeeping for Dummies, John Wiley,
Sussex.

Cox, D et al (1998) Business Record Keeping, Osborne.

Melville, A (1999) Financial Accounting, FT Prentice Hall, Harlow.

Wood, F and Robinson, S (2004) Book-keeping and Accounts, FT Prentice
Hall, Harlow.

Self-check questions

1. Which system of bookkeeping is most suited to a self-employed
plumber?

Define a receipts and payments account.

3. Prepare a receipts and payments account from the following
information for Gosforth Gardeners Association, showing the
cash balance at the end of the year:

Cash at start of year £1,270
Bulk purchase of seeds and fertilizers £2,510
Members’ annual subscriptions £560
Sales of seeds and fertilizers to members £2,250
Purchase of equipment for hire £1,500
Hire fees received £450

4. Identify whether the following are debit or credit account
balances:
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B expenses;
B liabilities;
B assets.

5. Name the two T accounts you would use to record the payment

of a sum of money owed to a supplier (for goods bought on
credit).

6. Prepare T accounts and a trial balance for John Deel, a market
trader, who has provided you with the following information
relating to his first year in business:

Opened a business bank account with £1,500 of his own capital.
Paid £1,200 for a stall and scales.
During the year he purchased goods worth £17,000 from A.
Wholesaler on credit.
Received £28,000 from cash sales to customers during the year.
He hired a van for business use at a cost of £300 per month
inclusive of all running costs.
During the year he made drawings of £6,000 cash to live on.
Paid A. Wholesaler a total of £16,000 during the year.
He had no stock left at the year-end.
Assume there was no depreciation.
Trial balance
Fixtures and fittings a/c 6,300 Capital a/c 6,000
Purchases a/c 47,200 Creditors a/c 3,500
Wages a/c 22,700 Sales a/c 86,500
Rent, rates, electricity a/c 7,300
Sundry expenses a/c 2,700
Bank balance 9,800
£96,000 £96,000
7. Prepare a profit and loss account and balance sheet from the

above trial balance relating to a baker’s shop. Ignore deprecia-
tion. Assume there was nil stock at the year-end and that any
profit is retained in the business.

What is meant by a chart of accounts?

Explain the difference between a journal and a ledger.



3 The profit and
loss account

INTRODUCTION

The annual accounts consist essentially of an income statement and a
balance sheet, which are also usually produced each month for internal
use by management. In addition, there is a third, less well-known cash
flow statement, but this seems to generate less interest than the other
two statements. The most well-known income statement is a profit and
loss account, but a revenue account or an income and expenditure account
are alternatives used by non-profit-seeking organizations. All three
statements compare income with expenses consumed in the same
period and broadly follow the same accounting principles.

One difference between the three income statements relates to their
sources of income. For example, a local authority will have rates, council
tax and government grants as its main sources of income in its revenue
account. Any charges for services provided will be a minor source of
income for a local authority, but in a profit-seeking company will be the
main, or only, source of income.

The other main difference between types of income statements is the
treatment of the resulting profit or loss. Non-profit-seeking organiza-
tions will use the terms surplus or deficit. Profit-seeking enterprises
will have to account for tax on the profit, and reward the owners of the
business with dividends, if a limited company, or a share of profits if
unincorporated. Any profit remaining after these appropriations is left

29
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in the company as extra capital. Having highlighted the differences, we
are going to concentrate our attention on the profit and loss account
relating to companies. The income statements of the other business
organizations are addressed in Chapter 6.

DEFINITION OF PROFIT OR LOSS

We now need to examine exactly what is meant by a profit or a loss. The
layperson’s definition of a profit or loss being the difference between
what something cost and its sales value is true overall. However, this
definition has to be considerably tightened up when accountants come
to measure profit or loss during specific periods of one month; so much
so that the layperson may not recognize the original definition!

A profit and loss account is a summary of a firm’s trading income
from its customers, offset by the cost of the goods or services sold, plus
other running expenses for the same period of time. Therefore:

Income is defined as sales to customers and also includes rent or invest-
ment income received. The realization principle states that we count
income when delivery of the goods or services takes place, and not at
the time cash is actually received in settlement of credit sales.

Example

If credit sales were £120,000 during a year, while cash received from those
same sales amounted to only £110,000 by the yearend, it is the former figure
of £120,000 which counts as income. Double entry bookkeeping will have
recorded all the sales as £120,000 and the cash received as £110,000,
while the outstanding balances on various customer accounts will total the other
£10,000 and be shown as debtors in the balance sheet.

Expenses are the cost of wages, materials and overheads used up during
the period on the goods and services sold to customers. Accountants
refer to these costs as revenue expenditure, as opposed to the purchase
cost of assets, such as buildings, vehicles and equipment, which last a
number of years and which are termed capital expenditure.

There are two tests as to whether or not an expense goes into the profit
and loss account (the alternative location being the balance sheet). First, it
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must relate to the time period covered by the statement irrespective of
whether the cash payment has been completed (any bills waiting to be
paid are shown as creditors in the liabilities section of the balance sheet).
This is the accrual principle at work.

Second, the expense must relate to goods and services included as
sales income in the same statement. This is the matching principle at
work. Expenses incurred for a later period, or on goods or services not
yet sold to customers, go into the balance sheet as assets — the first as a
prepayment and the second as stocks.

It is a common misconception to think of the profit and loss account
as a summary of all cash flowing into and out of the business, and that
the excess of cash receipts over payments represents the profit. Such
thinking ignores all the cash transactions that affect the balance sheet,
for example, when a company receives a bank loan, or when it buys new
equipment.

Aloan is a cash receipt, but it cannot be counted as income in the profit
and loss account as it must be repaid at some future time. It is therefore
shown as a liability in the balance sheet. When the loan is eventually
repaid, such repayment is not an expense in the profit and loss account,
but a reduction of the asset cash in the balance sheet. Before looking at a
comprehensive example of a profit and loss account we need to discuss
the treatment of stocks and the concept of depreciation.

TREATMENT OF STOCKS

In most businesses, goods purchased or manufactured are rarely all sold
in the same accounting period and therefore give rise to stocks at the
month or year-end. A basic principle of the profit and loss account is
that sales must be matched with the cost of goods sold, not with the cost
of goods purchased.

In ongoing companies we therefore have two stock figures to
contend with — the opening stock at the beginning of the period and the
closing stock at the end of that same period. Opening stock is an
expense brought forward from a previous period to the present one,
while closing stock is an expense to take from this period and carry
forward in the balance sheet list of assets to the next period.



32  The annual accounts

Example

A retail firm sold goods for £50,000 one month when purchases cost
£30,000. Stock at the beginning of the month was £12,000 and this had
increased fo £15,000 by the month end.

£ £
Sales 50,000
Opening stock 12,000
Purchases 30,000

42,000
Less Closing stock 15,000
Cost of goods sold 27,000
Gross profit 23,000

Figure 3.1 Trading account showing treatment of stocks

This figure shows the part of a profit and loss account called the trading
account. Instead of using the two-sided format based on double entry,
we have now switched to the more usual vertical format. This approach
is used in almost all published financial statements. Although compa-
nies do not publish a trading account as such, they are free to use what-
ever formats they like for internal consumption.

DEPRECIATION

A business spends cash in one of two ways — either on expenses or on
assets. The expenses of labour, materials and overheads go into the
profit and loss account, but not so the cost of fixed assets, such as vehi-
cles or equipment. All may be thought of as necessary expenditure, but
the crucial difference is that of time.

Labour, material, and overhead expenses are used up almost immedi-
ately unless expended on items remaining in stock. Fixed assets usually
last for a number of years and it would be unfair to charge their whole
acquisition cost against one month’s, or even one year’s, income. This
problem is overcome by the simple expedient of charging a proportion
of the cost, called depreciation, in each period’s profit and loss account
over the whole life of the asset.

The amount of depreciation to charge each month, or each year, is
based on the expected life of an asset. To take a simple example of a
machine costing £10,000 and expected to last five years before being
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scrapped, this would result in a depreciation charge of £2,000 each year
for five years.

The actual life may not turn out to be five years. If shorter, then addi-
tional depreciation will be needed in the last year of its life. If longer,
then the business gets a free ride after the fifth year. This evens itself out
to some extent, taking a swings-and-roundabouts view of things. It is
better to be, say, 90 per cent correct with the yearly depreciation charge
than not attempt to calculate depreciation at all, so charging the profit
and loss account with the full cost of the asset in the year it is scrapped.

There are two main methods used to calculate depreciation in the
UK:

the straight-line method; and
the reducing balance method.

The method described earlier reduced the value of the machine by the
same £2,000 each year. This is called the straight-line method because
the depreciated value of the asset falls in a linear fashion. The reducing
balance method charges a smaller amount of depreciation year after
year. This is because a fixed percentage is applied to the falling value
each year. On this basis we never get an asset value down to zero until it
is scrapped. These two methods of depreciation can be contrasted in a
simple diagram showing how the remaining value of the asset varies
year by year, as in Figure 3.2.

If the remaining value varies on the two methods, so must the yearly
depreciation charge. Let us apply the two methods to an example, now
bringing in a residual value of the asset at the end of its life.

Straight-line method

Value 6;%
%
%
%,
%
Years

Figure 3.2  Asset values under different depreciation methods
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Example
A machine costs £11,000 and has an estimated value of £1,000 at the end of
its five-year life.

The straightline method takes the residual value from the original cost and
divides by five, giving a depreciation charge of £2,000 per annum as follows:

Cost of machine —resale value = £11,000 - £1,000
Expected life 5
= £2,000 pa

A variation of this straight-line method is to calculate the life in hours
rather than years, so expressing the depreciation charge as £x per hour.
This machine-hour rate method is often used in internal costings.

To calculate the reducing balance method of depreciation we need to
find what percentage rate which, when applied to the reducing value of
the machine each year, will reduce its value to £1,000 by the end of the
fifth year. This is found from the formula:

\V/ Residual value

Original cost

r= 100—( X 100)

where n equals the estimated life in years and r equals the depreciation
rate. Using the previous example we can solve the equation:

B V' £1,000 )
r= 100‘( £11.000 < 100
.1 =238%

The calculations are now set out side-by-side in Figure 3.3 for the two
methods, both resulting in approximately the same residual value of
£1,000 after five years.

Under the reducing balance method, the depreciation charge is
greater for the first two years than under the straight-line method. After
that the roles are reversed with straight-line depreciation being more in
the last three years than under the reducing balance method. Both
methods are acceptable, but the reducing balance method is not
normally used to depreciate buildings or leases. Either method can be
used on plant, equipment and vehicles but it is on motor cars that the
reducing balance method is most commonly seen.
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Reducing balance Straight-line
method method
£ £
Original cost 11,000 11,000
First-year depreciation (38%) 4,180 2,000
Balance sheet value — end year 1 6,820 9,000
Second-year depreciation (38%) 2,692 2,000
Balance sheet value — end year 2 4,228 7,000
Third-year depreciation (38%) 1,607 2,000
Balance sheet value — end year 3 2,621 5,000
Fourth-year depreciation (38%) 996 2,000
Balance sheet value — end year 4 1,625 3,000
Fifth-year depreciation (38%) 618 2,000
Balance sheet value — end year 5 1,007 1,000

Figure 3.3 Calculating depreciation

HM Revenue & Customs ignore a company’s own depreciation charge
when calculating how much tax is chargeable on the profit made, and
substitute their own tax or capital allowances in its place. Basically, for
most industries and locations there are only three rates of tax allowance:

4 per cent pa based on the original cost of industrial buildings and
calculated on a straight-line basis;

25 per cent pa on the reducing balance of plant, equipment, fixtures,
furnishings and vehicles with a life not exceeding 25 years.

6 per cent pa on the reducing balance of plant and equipment with a
life exceeding 25 years.

Special rates of capital allowances apply at times when economic incen-
tives are needed to boost investment, and differential rates may be
applied to specific industries. These tax allowances, and other aspects of
taxation, are further discussed in Chapter 21.

We can now look at a fuller version of an internal profit and loss
account, suitable for a trading organization where stocks are relevant.
This is shown in Figure 3.4. A service organization could use a similar
format, but omit the stocks items and the reference to gross profit.

Strictly speaking, what we are calling the profit and loss account
comprises four stages, of which companies select those relevant to their
business. The four stages are as follows:
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Stage 1 Manufacturing. When appropriate to a business, this shows
the cost of goods manufactured.

Stage 2 Trading. This shows the gross profit earned by matching the
income against the cost of sales.

Stage 3 Profit and loss. The overhead expenses of running the busi-
ness are deducted from the gross profit to arrive at the net profit.
Stage 4 Appropriation. This shows how the profit is appropriated in
tax provisions; payment of dividends to shareholders; and the
amount of profit retained in the business.

£ £

Sales 50,000
Opening stock 12,000
Purchases 30,000
42,000
Less Closing stock 15,000

Cost of goods sold 27,000

Gross profit 23,000
Less Wages and salaries 7,500
Directors fees 2,500
NI and pension contributions 2,300
Rent, business tax 3,500
Depreciation 1,400
Electricity, gas, etc 700
Stationery, postage, telephone 650
Vehicle running expenses 2,500
Auditors’ fees, and other professional fees 200

Bank interest and charges 360 21,610

Net profit £1,390

Figure 3.4 Example of a monthly profit and loss account

Manufacturing companies need a more detailed statement to take
account of the three possible kinds of stock — raw materials, work-in-
progress and finished goods as illustrated in Figure 3.5.

Further examples of internal profit and loss accounts for specific
industries are shown in Chapter 15, which discusses their use in a budg-
eting context.
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PUBLISHED PROFIT AND LOSS ACCOUNTS

Published profit and loss accounts never disclose the degree of detail
about expenses shown in Figures 3.4 and 3.5, although some individual
expense items are shown tucked away in the notes to the accounts to
comply with the legal requirements on disclosure.

£000 £000
Sales
Less Cost of sales: 1,000
Raw materials used 200
Direct wages 400
600
Add Opening work-in-progress 100
700
Less Closing work-in-progress 200
Prime cost 500
Add Other factory expenses 100
Gross cost of production 600
Add Opening stock of finished goods _50
650
Less Closing stock of finished goods _b5 595
Gross profit 405
Less Administration expenses:
Salaries 30
Printing stationery, postages, telephone 10
Rates, heat, light and power 10
Bank charges and sundries _10 60
Selling and distribution expenses:
Salaries and commission 40
Advertising 10
Carriage and packing 20
Motor expenses 20 90 150
Balance before charging 255
Depreciation 20
Auditors’ remuneration 10
Debenture interest 10
Directors’ remuneration _80 120
Net profit before tax 135
Corporation tax _60
Net profit after tax 75
Dividends _20
Retained profit b5

Figure 3.5 Example of a manufacturing, trading and profit and loss account
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This year Last year

£m £m
Turnover 37,900 35,600
Cost of sales (30,000) (33,800)
Gross profit 7,900 1,800
Distribution costs (400) (350)
Administrative expenses (3,500) (4,100)
Operating profit/(loss) 4,000 (2,650)
Interest receivable 250 60
Interest payable (100) (400)
Profit/(loss) on ordinary activities before taxation 4,150 (2,990)
Tax on profit on ordinary activities (650) —
Profit/(loss) on ordinary activities after taxation 3,600 (2,990)
Dividends paid and proposed 1,350 —
Retained profit/(loss) for the financial year 2,150 (2,990)
Earnings/(loss) per share 7.0p (5.7)p

Figure 3.6  Published profit and loss account in Format 1 style

Very often, expenses are grouped together under a limited number of
functional headings, for example cost of sales; distribution costs; admin-
istrative expenses. The most popular Format 1 of the four types
prescribed by the Companies Acts is shown abbreviated as Figure 3.6.
Format 2 requires more detail on the face of the profit and loss account,
but these extra details are contained in supplementary notes to Format
1, so in reality there is little difference between them. Formats 1 and 2
use a vertical form of presentation while the rarely seen Formats 3 and 4
use a horizontal presentation that reflects double entry bookkeeping.

The Financial Reporting Standard (FRS No 3) issued in 1992 and enti-
tled Reporting Financial Performance aims to make the profit and loss
account statement more reliable an indicator of financial performance
and less vulnerable to creative accounting. It specifically requires
companies:

to separate turnover and operating profit between continuing oper-
ations, acquisitions, and discontinued operations;

to disclose profits and losses resulting from restructuring/reorgani-
zation or from the disposal of fixed assets or parts of the business;

to disclose extraordinary items (which should now be a rare event) as
opposed to exceptional items (which could be quite commonplace);
and to calculate earnings per share after taking them into account.
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In addition, the standard requires a note to the profit and loss account
statement disclosing what the profit would have been if revaluations of
property were excluded, and the amount of any consequent adjustment
to depreciation charges. This is to enable comparison to be made with
other organizations that have used historic cost accounting throughout
their lives. You may wish to refer to Chapter 7 dealing with
historic/current cost accounting to follow up this point.

Finally, FRS 3 requires a statement showing the total recognized gains
and losses in the period, comprising the profit for the period plus any
other movements in balance sheet reserves. The purpose of this require-
ment is to give a picture of the overall performance, which previously
was obscured (as in the case of Polly Peck plc) by items being reported in
the separate accounting statements; in that case, the two items being
interest receivable and exchange rate losses.

Further reading

You can see a summary of all the Financial Reporting Standards in
Appendix 1.

Parker, RH (2007) Understanding Company Financial Statements, Penguin
Books, London.

Reid, W and Myddleton, R (2005) The Meaning of Company Accounts,
Gower Publishing, Aldershot.

Online spreadsheets

SCORE (www.score.org>Business Tools>Template Galley>Profit and
Loss Projections)

Self-check questions

Name three possible kinds of income statement.

2. A profit and loss account is a statement of all monies received
during a period less all monies paid out. True or false? Give
reasons.

3. Define depreciation.
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4. What is the balance sheet value of an asset after three years if its
original cost of £16,000 is depreciated at 20 per cent pa on the
reducing balance method?

5. On inheriting £9,000, you decided to open a shop and paid
three months’ rent, in advance, on 1 October. The annual rental
is £6,000.

In the first week you fitted out the shop at a cost of £4,800 and
you expect the fittings to last about four years.

You started trading in the second week by buying £3,000 of
goods for resale; £1,000 of which you managed to get on credit
for settlement by the end of November; the other £2,000 you
paid for in cash immediately.

During October you paid out £600 in assistant’s wages/NI
and £200 on sundry expenses. The previous tenant had paid
about £450 this quarter for electricity, but you have not had the
meter read yet. By the end of October your sales (all for cash)
amounted to £3,600 and you still had half your purchases left in
stock for sale the next month. How much profit or loss did you
make in October?



A The balance
sheet

INTRODUCTION

When we talk about a set of accounts we are essentially talking about
the profit and loss account statement (discussed in the previous
chapter) and the balance sheet statement, to which we now turn. This is
not to deny the existence of a third statement dealing with cash flow,
which also plays an important role in informing managers and other
parties as discussed in Chapter 5.

Abalance sheet is a snapshot picture at a moment in time. On the one
hand it shows the value of assets (possessions) owned by the business
and, on the other, it shows who provided the funds with which to
finance those assets and to whom the business is ultimately liable. Here
we have an example of the dual aspects of recording which explains
why a balance sheet must always balance.

DUAL ASPECTS OF RECORDING

Another way of expressing the dual aspect of a balance sheet is by the

equation:
- Ciabites
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This balance sheet equation can best be understood by showing a few
simple examples of how a balance sheet will look after transactions that
affect either assets or liabilities, or both at the same time.

Example 1

Joe Bloggs starts up a business and pays £1,000 info a newly opened business
bank account. The balance sheet now reflects the asset of £1,000 cash and the
liability of the business to the owner who provided the £1,000 capital. This is to
reflect the accounting convention of separate entity when the accounts of each busi-
ness enterprise are kept apart and distinct from the proprietor's personal transactions.

Balance sheet for Joe Bloggs

Assets Liabilities

Cash £1,000 Owner’s capital £1,000

Example 2

If some of the cash is now spent on stock costing £400, there is no change to
the balance sheet totals on either side, but a switch from cash to stocks on the
assets side as follows:

Balance sheet for Joe Bloggs

Assets Liabilities
Stock 400 Owner’s capital 1,000
Cash (1,000 - 400) 600
£1,000 £1,000

Example 3

Further stock costing £200 is now bought on credit. The asset of stock is now
increased in value by £200, which is balanced by the new liability of creditors
on the other side for the same amount, as follows:

Balance sheet for Joe Bloggs

Assets Liabilities

Stock (400 + 200) 600 Owner’s capital 1,000
Cash 600 Creditors 200
£1,200 £1,200
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Example 4

Some stock originally costing £100 is now sold for cash of £150, making a
profit of £50. This shows as a switch from one asset to another asset, but also
partly shows as an increased liability. Stock reduces by £100, but cash
increases by £150. The seeming imbalance of £50 is corrected by showing the
owner's capifal increasing by £50 to £1,050 on the liabilities side. This is
because refained profits in any business belong to the owner(s) who would ulti-
mately get that amount if all the assets were furned back into cash and the liabil-
ities were then paid off. The balance sheet now looks like this:

Balance sheet for Joe Bloggs

Assets Liabilities
Stock (600 — 100) 500 Owner’s capital (1,000 + 50) 1,050
Cash (600 + 150) 750 Creditors 200
£1,250 £1,250

Having justified (it is hoped!) why a balance sheet must always balance,
let us return to examining this statement in some detail. Assets are of
two main types and are classified under the headings of either fixed
assets or current assets. Fixed assets are the hardware or physical things
used by the business itself and which are not for sale to customers.
Examples of fixed assets include buildings, plant, machinery, vehicles,
furniture and fittings.

Other assets in the process of eventually being turned into cash from
customers are called current assets, and include stocks, work-in-progress,
debts owed by customers and cash itself. Therefore we can say:

Assets can only be bought with funds provided by the owners or
borrowed from someone else, for example, bankers or creditors. Owners
provide funds by directly investing in the business (say, when they buy
shares issued by the company) or indirectly, as we have seen earlier, by
allowing the company to retain some of the profits. Therefore for a
limited company:

Total liabilities - Share capital .  |Borrowings and

and reserves other creditors
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This same identity is also true for non-incorporated businesses when
the owner’s capital comprises the initial investment plus any retained
profits, while further finance is provided by borrowings and, indirectly,
by credit from suppliers.

Borrowed capital can take the form of a long-term loan at a fixed rate of
interest or a short-term loan, such as a bank overdraft, usually at a vari-
able rate of interest. All short-term liabilities owed by a business and due
for payment within 12 months are referred to as creditors falling due within
one year, and long-term indebtedness is called creditors falling due after one

Balance sheet
£000 £000
Capital and reserves 200 Fixed assets 100
Creditors falling due after 1 year 50 Current assets 250
Creditors falling due within 1 year 100
350 350

Figure 4.1 Balance sheet structure (horizontal format)

year. Having identified all the items in a balance sheet, we can show the
total picture as in Figure 4.1, keeping to the balance sheet equation of
assets equal liabilities for the moment. You may be correct in thinking that
assets and liabilities are on the wrong sides, but the convention grew up
for some unknown reason that the sides were reversed in the balance
sheet. This is now all irrelevant as explained below.

Balance sheet

£000 £000
Fixed assets 100
Current assets 250
Less
Creditors falling due within one year 100
Net current assets (ie working capital) 150
Total assets /ess current liabilities 250
Less o
Creditors falling due after one year _ 50
Net assets (wealth owned by shareholders) 200
Capital and reserves 200

Figure 4.2 Balance sheet structure (vertical format)
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This horizontal presentation is rarely used, certainly in the case of
published accounts that have to comply with the relevant standards. A
vertical presentation is now the norm and the same balance sheet items
shown in Figure 4.1 are now represented vertically in Figure 4.2.

ASSETS

A business’s possessions or assets are normally divided into two broad
categories based on a time distinction: fixed or long-term assets, and
current or short-term assets.

These various categories of asset are normally valued at the original
cost of the items which is referred to as the historic cost convention.
Sometimes a valuable building may be revalued to its current value, but
this is the exception rather than the rule. Current cost accounting, where
assets are revalued regularly, and the profit adjusted for the effects of
inflation, is the subject of Chapter 7.

It may come as a surprise but some assets are not disclosed in a
balance sheet. Internally generated goodwill, including the value of
many brands that have been developed over many years, never appears
in a balance sheet. The skills of the workforce, probably any firm’s most
valuable asset, do not appear at all in a balance sheet. This is because the
firm does not own its employees, who can leave and go to work for
someone else. There would also be a valuation problem here as it can
not be assumed that training costs incurred by a current employer
equate to skill value. An exception here might be the transfer fees paid
to recruit professional football players which some clubs are treating as
a capital asset. Other clubs pass transfer fees paid and received through
their profit and loss account as expenditure and income respectively.

These two factors — historic asset values and missing assets — are the
main reasons why a balance sheet as published has limited economic
meaning. It certainly does not purport to show the value of a business or
what a company’s shares are worth. It merely records what assets the
organization has spent its money on and who provided that money. With
this big proviso in mind, let us now examine the balance sheet in detail.

Fixed assets

These are assets held in the business for use rather than for resale and
can be regarded as long-term assets to be used for a number of years.
Fixed assets are grouped under three possible headings:



46 The annual accounts

tangible assets;
intangible assets;
investments.

1. Tangible assets are likely to appear in every balance sheet. They
embrace land and buildings, plant and machinery, motor vehicles
and furniture and fittings. They are normally shown in the balance
sheet at their original cost reduced by the amount of depreciation
written off to the profit and loss account so far.

The main object of depreciation is to spread the original cost of the asset
over its expected life so that the profit and loss account for any period
bears a fair share of the original cost of fixed assets. Consequently, the
value of fixed assets in the balance sheet may not reflect their saleable
value at that time because of inflation, or because of changing technol-
ogy, or other reasons.

This practice of depreciating owned fixed assets is extended to some
leased assets. First, a distinction has to be made between operating leases
and finance leases. The former would describe the short-term hire of an
asset, for example, the renting of a vehicle or piece of equipment for a
few weeks or months. These operating lease payments are charged to
the profit and loss account when incurred, and no entry is needed in
the balance sheet.

Finance leases, however, are seen as conferring all the benefits of
outright ownership except that the asset is financed in a way somewhat
akin to hire purchase. In this case, the assets being leased are originally
shown in the balance sheet at their full cost together with the capital
amount outstanding on the finance agreement. The asset value is then
depreciated each year and the outstanding liability is reduced by the
element of capital repaid.

Itis a mammoth task in large organizations to keep records of all fixed
assets showing their cost and depreciation amounts over time. In a busi-
ness of some size, maintenance of the asset register is computerized, and
accounting packages for this specific purpose are available.

2. Intangible assets embrace goodwill, brands, patents, trade marks,
licences, etc. Such items will only appear on a balance sheet if they
are separately identifiable and money is spent on their acquisition.
Goodwill and brands have been very contentious items where UK
accounting standards have not been in accord with international
standards.
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FRS 10, which became effective in 1998, brought UK accounting practice
on goodwill and intangible assets much closer to international practice.
It requires purchased goodwill and intangible assets to be capitalized as
assets on the balance sheet. Any internally generated goodwill will not
be capitalized (as before) and any other internally generated intangible
assets should be capitalized only if they have a readily identifiable
market value.

Intangible assets with limited lives will be amortized to the profit and
loss account over their expected lives, but not if they are deemed to have
infinite lives. In this case they need to be written down in the balance
sheet only if their value has suffered impairment.

In general it is presumed that the useful economic lives of purchased
goodwill and other intangible assets do not exceed 20 years from the
date of acquisition. This can be rebutted if the asset is capable of meas-
urement so that an impairment review can be carried out annually. For
assets with an expected life of less than 20 years and therefore subject to
amortization, impairment reviews are only needed after one year or if
there are grounds for believing that the asset’s value has fallen below
the balance sheet value. The accounting rules on impairment are
contained in FRS 11.

3. Investments only appear under the umbrella of fixed assets if they are
long-term in nature and represent stakes in subsidiaries, joint
ventures, or related companies. Sometimes this part ownership of
another business relates to a supplier, competitor, or customer and
the stake is held for strategic reasons and, possibly, eventual takeover.

Current assets

These are short-term assets which are already cash or which are
intended to be turned back into cash in the course of normal trading
activity. There are three main types of current assets, namely:

stocks;
debtors;
investments, cash and bank balances.

Here we briefly examine each in turn, although the detailed manage-
ment of these items is the subject of Chapter 18.
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1. Stocks can be of up to three main types, depending on the nature of
the business. The three categories are:

raw materials;
work-in-progress;
finished goods.

A manufacturing firm will have all three kinds whereas a retail outlet
will only have finished goods for resale. Service industries may also
carry stocks. For example, an architect has considerable work-in-
progress, consisting of labour and overhead charges on the drawings
and supervision of building not yet charged out to clients.

Stocks are valued on the basis of their cost, or realizable value, if
lower. Realizable value means their value to the trade not their sale
value to a customer. This rule can be important for firms holding stocks
of commodities, for example, tin, lead, cocoa whose prices can be
volatile at times. Valuing these stocks at the year-end may result in a loss
if market value happens to be lower than cost at that particular moment.
Engineering firms and confectionery manufacturers can see their profits
affected either way by sharp changes in commodity prices.

The valuation of work-in-progress and finished goods may also not be
quite so straightforward as valuing at cost would suggest. In this context it
is debatable what constitutes cost. Obviously, the direct costs of labour
and materials which went into making the product are part of the cost. So
too is a share of some overhead costs of running the firm. It can be argued
that all production and administrative overheads should be charged to all
products, whether part or wholly finished. Selling and distribution over-
heads, however, should only apply to the goods sold and not by defini-
tion to the goods in stock. Fortunately, some rules have been formulated
by the accountancy bodies and these are found in SSAP 9.

The value of stocks held in store is also influenced by the stores
pricing policy. A few alternative systems of pricing stores issues are
available, all of which affect the value of items not yet issued. This is
discussed in Chapter 11 which explains costing matters.

2. Debtors arise only when firms sell on credit but, as credit sales are
normal for all industries except some retailing, it means debtors are
found in most balance sheets. Also included under this heading are
payments made in advance of the goods or services being received
when, say, rates were already paid for a further period after the
balance sheet date. These are termed prepayments.
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The basis for valuing trade debtors is to take the value of the customer
invoices outstanding at the date of the balance sheet from the sales
ledger. A small adjustment to this value is then made to reflect past
experience that all invoices never get settled in full. Usually this is
because some dispute about the goods or services delivered can arise at
a later date, or some customers go bankrupt, or into liquidation, and
cannot pay their debts.

For these reasons, firms make a small provision, based on past experi-
ence, of the amount which they should classify as doubtful debts. This
provision for bad debts is charged as an expense in the profit and loss
account and the global value of the debtors reduced accordingly in the
balance sheet. Depending on the actual bad debts occurring within the
year, the provision is topped up to a suitable level again at the next year-
end.

3. Investments are not uncommon in the list of current assets and are of
a different nature to those investments already discussed in fixed
assets. Current asset investments relate to short-term investments of
monies that are not immediately required and have been placed
temporarily in the money markets, or elsewhere, to get a good
return. If the investments are quoted securities, such as shares or
gilts, then their current market value must be disclosed on the
balance sheet or by way of a supplementary note.

4. Cash and bank balances include cash floats, petty cash balances and
any takings not yet banked. Businesses always have at least one
bank current account (which will be a liability if overdrawn!) and
may also have a deposit account. All these cash and bank balances
pose no valuation problems.

Balance sheet sequence

The foregoing groups of assets are normally listed in order of perma-
nence. Fixed assets are therefore listed before current assets and within
each group the same practice is recognized. This results in the sequence
land and buildings, plant and equipment, motor vehicles, fixtures and
fittings for fixed assets. The sequence for current assets becomes stocks
of raw materials, work-in-progress, finished goods, debtors, invest-
ments, ending with the least permanent assets of cash and bank
balances.
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LIABILITIES (OR SOURCES OF FUNDS)

We now turn our attention to a business’s sources of funds — where the
money comes from with which the assets are bought. The three main
sources are:

shareholders (or owners);
borrowings;
creditors excl. borrowings.

Each of these sources can be further divided as we shall see. In addition,
a source of finance is usually found in trade credit. This occurs when a
firm buys goods or services from other firms, but is allowed a number of
weeks to pay. These trade creditors reduce the amount of working
capital needed to be provided from shareholders and borrowings. It is
for this reason that creditors falling due within a year are deducted from
the total current assets to show the net amount of working capital in the
balance sheet. We now look at each source of finance in turn.

Shareholders’ funds

Essentially this consists of the issued share capital and reserves of
various kinds. It represents the amount of money that shareholders
have invested directly into the company by buying shares, together
with retained profits that belong to shareholders but which the
company uses as additional capital. We look at each of these sources of
finance separately.

1. Ordinary shares form the bulk of the shares issued by most compa-
nies and are the shares which carry the ordinary risks associated
with being in business — indeed, they are often referred to as risk
capital or equity. All the profits of the business, including past
retained profits, belong to the ordinary shareholders once any pref-
erence share dividends have been deducted. Ordinary shares have
no fixed rate of dividend, but companies hope to increase its size in
line with the growth of company profits over the years.

A company does not have to issue all its share capital at once. The total
amount it is authorized to issue must be shown somewhere in the
accounts, but only the issued share capital is counted in the balance
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sheet. Although shares can be partly paid, this is a rare occurrence.
Partly paid shares on privatization of a publicly owned organization are
not the same, as any outstanding monies are owed to the government
and not to the company concerned.

2. Preference shares get their name for two reasons. First, they receive
their fixed rate of dividend before ordinary shareholders. Second, in
the event of a winding up of the company, any funds remaining go
to repay preference share capital before any ordinary share capital.
In a forced liquidation this may be of little comfort as shareholders of
any type come last in the queue after all other claims from creditors
have been met.

3. Reserves is probably the most misleading term in all accounting! In
general terms it means profits of various kinds that have been
retained in the company as extra capital. Also important is what the
term reserves does not mean. It does not mean actual money held
back in reserve in bank accounts or elsewhere. Reserves come from
retained profits over many years but are probably reinvested in
buildings, equipment, stocks, or company debts, just like any other
source of capital.

The main categories of reserves are as follows:

Profit and loss account, ie cumulative retained profits from ordinary
trading activities.

Revaluation reserve being the paper profit that can arise if certain
assets are revalued to current price levels without the assets
concerned being sold.

Share premium account, ie the excess over the original par value of a
share when new shares are offered for sale at an enhanced price.
Only the original par value is ever shown as issued share capital.

Creditors

This term means any money owed to other parties at this time, that is
payable at some future date. It embraces all borrowings and all money
owed to suppliers plus other items mentioned below. The main distinc-
tion of creditors in a published balance sheet is based on time, with one
year hence being the critical moment. Therefore, the two main headings
of creditors in the balance sheet are:
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creditors falling due after one year;
creditors falling due within one year.

1. Creditors falling due after one year fall into three main categories:

borrowed capital;
provisions or charges;
other creditors.

Borrowing is attractive to a company if it thinks it can earn a greater
return on the money used in its business than it costs to service the
interest payments. When the government throws in tax relief on the
interest payments, it becomes irresistible, although excessive borrowing
gets risky if pushed too far. This relates to the topic of gearing, which is
discussed later in Chapters 9 and 16.

Firms sometimes also make provisions against future events, say, a
restructuring or reorganization and redundancy programme. A provi-
sion is made by charging an estimated future cost as an expense in the
profit and loss account now. The money has not yet been spent as this
action anticipates a future event. Meanwhile, both the cash and the
potential liability are shown in their respective places in the balance
sheet reflecting the dual aspects of recording.

2. Creditors falling due within one year. As well as bank overdrafts or
other short-term borrowings, these creditors are liabilities incurred
in the normal course of trading. Examples are:

bank overdrafts;

amounts owing to suppliers (trade creditors);

Employer’s National Insurance contributions (NIC);

payroll deductions of employees’ National Insurance and Income Tax;
corporation tax and VAT not yet due for payment;

dividends declared but awaiting the payment date.

As already indicated, it is the normal practice now for these current liabil-
ities, as they are also known, to be regarded as a negative current asset in
the working capital cycle. This shows them as a deduction from current
assets which they help to finance rather than as a separate source of
funds in their own right. This working capital cycle is explored more in
Chapter 18.
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Other borrowings and sources of funds

There are various hybrid types of finance that are neither pure share nor
pure borrowing. A convertible loan or a convertible preference share are cases in
point. In both cases the original security is convertible into ordinary shares
at some future date(s) on predetermined terms. The accounting standard
FRS 4 entitled Capital Instruments, details how capital instruments and
their associated costs are to be disclosed in the financial statements.

There can also be various types of borrowing, some being secured on
assets of the business, some not. Loans, debentures, mortgages are all
kinds of borrowing with different rights and obligations for the parties
concerned. Mezzanine finance provided by venture capitalists is a loan
subordinated to major finance and is common in management buy-outs
or buy-ins.

It is possible to raise finance by the special use of existing assets.
Occasionally one hears of a company selling off its valuable premises to
a financial institution, but continuing to occupy them on a long-term
lease. This is known as sale and leaseback. Capital previously tied up in the
premises is now released for investment in other fixed assets or in more
working capital. Future profits earned in this way will be partly offset by
the rent charges hitting the profit and loss account.

Another asset which can be turned into cash is trade debtors. This is
done by selling the invoices to a specialist finance house who collect the
money from the customer later. Factoring, as it is called, is discussed in
Chapter 18 and is a very fast-growing source of funds.

Mention has already been made of leasing or hire purchase. By this
means, a business can acquire the use of fixed assets immediately but
pay for them by instalments (plus interest) over a number of years. The
differences are mainly legalistic ones regarding the terms of eventual
ownership of the assets. When financed this way, both the assets and
the capital debt are included in the balance sheet in much the same way
as if they had been purchased from borrowed capital.

When deciding which sources of funds to use, companies have to
consider such factors as availability, cost, risk, repayment burden if
appropriate, and so on. This is touched on in Chapter 16.

We can now look at a complete balance sheet in Figure 4.3, incorpo-
rating all the items we have discussed.
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Balance sheet
£m £m
Fixed assets
Tangible assets:
Buildings 40
Plant and machinery 26
Motor vehicles 8
Fixtures and fittings _ 6 80
Intangible assets:
Patents, licences 6
Investments 14
100
Current assets
Stocks and work-in-progress 120
Debtors (customers’ debts) 110
Short-term investments 5
Cash and bank balances 15
250
Less
Creditors falling due within one year
Bank overdraft 35
Other creditors _65
100
Net current assets (ie working capital) 150
Total assets less current liabilities 250
Less
Creditors falling due after one year
Borrowings 40
Provisions and charges 10 50
Net assets (wealth owed to shareholders) 200
Capital and reserves
Issued share capital 120
Retained profits (accumulated P & L a/cs) ~80 200

Figure 4.3 Balance sheet structure (vertical format)

AUDIT

Limited companies must submit their annual accounts to audit by an
independent, qualified accountant. The trend is towards minimizing
the cost and procedures for small unquoted companies, but their larger
brethren face big fees for audit services.

The audit report in a company’s annual accounts is usually a very
brief but important statement. In it, an independent report is made to
the shareholders about whether the accounts give a true and fair view of
the company’s state of affairs. This means that adequate records have
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been kept and that the accounting statements comply with the
Companies Act 2006 and professional standards laid down in SSAPs
and FRSs.

A qualified report draws some irregularity to the attention of the
shareholders for them to pursue at the annual general meeting or else-
where. If it relates to a technicality that is not significant to the
company’s financial health, it will not attract much attention. A qualifi-
cation on a serious matter, such as keeping inadequate records, overval-
uation of stock, or using creative accounting to misinform shareholders,
would lead to repercussions on the share price initially, followed by
pressure on the directors to take immediate action or resign. Depending
on the nature of the matter raised, it might also attract the attention of
the Financial Reporting Review Panel or the Department for Business,
Enterprise and Regulatory Reform.

Concern has been voiced about the reality of an auditor’s independ-
ence. The directors of a company are usually empowered to fix the
auditor’s remuneration; they can recommend a change in auditor to the
members; they also negotiate with the auditors about the presentation
of the accounts. These factors may seem to leave auditors susceptible to
pressure from directors.

External auditors have the legal responsibility for audit but many
large organizations, not just companies, also employ internal audit staff
on complementary work. The external auditor is reporting on the accu-
racy of the financial statements and any supporting systems and
should bear the work of internal auditors in mind in performing this
role. Internal auditors will have a much wider brief, taking them into
issues of stewardship, costing, and computerized systems, to name but
a few.

Further reading

Glautier, MWE (2004) Accounting Theory and Practice, FT Prentice Hall,
Harlow.

Parker, RH (2007) Understanding Company Financial Statements, Penguin
Books, London.

Reid, W and Myddleton, R (2005) The Meaning of Company Accounts,
Gower Publishing, Aldershot.
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Online spreadsheets

SCORE (www.score.org>Business Tools> Template Gallery>Balance
Sheet (projected))

Self-check questions

Why must a balance sheet always balance?
What are the two main groups of assets called?
What are the main two sources of long-term capital for a
company?

4. Why is the goodwill of a company, built up over many years,
not shown as an asset in its balance sheet?

5. Distinguish between operating leases and finance leases.
Name the three main types of stocks.

7. Why will there be a difference between the total value of
customers’ invoices outstanding and the amount shown as
debtors in a company’s balance sheet?

8. Differentiate between ordinary shares and preference shares.



5 Cash flow
statement

INTRODUCTION

Readers of annual reports need some training to understand profit and
loss accounts and balance sheets. They may be heartened by this further
statement whose title does accurately describe its contents. The cash
flow statement is quite literally a statement of the amounts of cash
flowing in and out of the company during the period, analysed by the
reason and purpose of the flow.

This statement is the third of the trio of statements found in company
published accounts (the others being the profit and loss account and
balance sheet). Its preparation is mandatory under FRS 1 for all but
small companies, but even they are encouraged to prepare one under
their own reporting standard (FRSSE). In addition to these external
reporting requirements, a cash flow statement is likely to be prepared
monthly, along with the other two statements, for the board and top
management.

A cash flow statement summarizes exactly where cash came from and
how it was spent during the year. Superficially, it would therefore seem
to draw on a mixture of transactions included in the profit and loss
account and balance sheet for the same period end, but this is not the
whole story.

Because there is a time lag on many cash transactions, for example,
tax and dividend payments, the statement is a mixture of some previous
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year and some current year transactions; the remaining current year
transactions go into the following year’s cash flow statement during
which the cash actually changes hands. Similarly, the realization and
accrual conventions relating to sales and purchases respectively result
in cash transactions having a different timing to when they were
entered in the profit and loss account.

Example

A company had sales of £5 million this year and £4 million last year and these
figures appeared in the profit and loss accounts of those years. Debtors af the
end of this year were £1 million and at the end of the previous year were £0.8
million. The cash inflow arising from sales this year is £4.8 million (£0.8 million
+£5 million — £1 million) whereas the sales figure in the profit and loss account
is £5 million.

For these reasons it is not possible to look at just this year’s profit and
loss account and balance sheet to find all the cash flows without refer-
ence to the previous year’s accounts. The balance sheet will show the
cash balance at the period end but will not easily disclose the multitude
of ways in which it was achieved.

Compiling a cash flow statement is quite a technical job and some
training plus inside information is needed to complete the task.
Nevertheless, the bulk of the items can be identified from an examina-
tion of the other two accounting statements for both the current and
previous years. However, managers are interested in how to read the
statement, not how to compile one, so we shall concentrate on its
interpretation.

CASH FLOW HEADINGS

The summarized cash flow statement in Figure 5.1 gives an illustration
of what it looks like in outline, using the FRS 1 format and revised head-
ings. All the detailed items which would normally be included under
each heading are omitted at this stage. Cash outflows are shown brack-
eted; cash inflows are without brackets.

Descriptions of headings

We now examine exactly what is contained under each of the headings
in turn, running through all of the items.
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£000
Operating activities 1,400
Returns on investment and servicing of finance (150)
Taxation (400)
Capital expenditure and financial investment (550)
Acquisitions and disposals (220)
Equity dividends paid (200)
Management of liquid resources (100)
Financing 300
Increase in cash during the period _80

Figure 5.1 Summarized cash flow statement

1. Operating activities shows cash generated or paid out from transac-
tions relating to trading activities with customers, and includes
operating profit, depreciation and changes in stocks, debtors and
creditors during the period.

A prime source of cash for any company should be the sale of goods and
services for more than their cost, thus leading to a cash inflow from
profit. When depreciation is charged as an expense in the profit and loss
account, it lowers profit but does not lead to any cash outflow, unlike all
other expenses. For this reason depreciation must be added back to
profit to find the cash inflow from trading operations.

Other operating activities that lead to inflows or outflows of cash are
changes in the levels of stocks, debtors, and creditors by the period end.
For example, a decrease in stocks allows a company to generate cash
from sales without a corresponding cash outflow on purchases. This
stock decrease is therefore a cash inflow. To take another example, any
decrease in creditors can only be achieved by paying off creditors,
which results in an outflow of cash.

If not shown on the face of the cash flow statement, a note reconciling
the operating profit with net cash inflow from operating activities (£1.4
million in Figure 5.1) is required as shown in Figure 5.2.

The net cash flow from operating activities of £1,400,000 is arrived at
by what is termed the indirect method. The alternative, but less popular
direct method is shown in Figure 5.3. FRS 1 allows these alternative ways
to disclose the net cash flow from operating activities. The indirect
method (Figure 5.2) seems to be the more popular, which may be
because when the direct method is used a reconciling note to the indi-
rect method is still required.
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£000
Operating profit 1,340
Depreciation charge 280
Increase in stocks (170)
Increase in creditors 70
Increase in debtors (120)
Net cash inflow from operating activities 1,400

Figure 5.2 Indirect method of reconciliation

The indirect method derives the cash flow from operating activities by
taking the operating profit plus depreciation and the changes in
working capital items. These figures are all easily traceable from the last
profit and loss account and the last two balance sheets. The direct
method expresses the cash flow from operating activities in gross cash
flow terms, not differentiating between current year’s profit and
working capital changes.

£000
Cash received from customers 9,900
Cash payments to suppliers (5,200)
Cash paid to and on behalf of employees (2,700)
Other cash payments (600)
Net cash inflow from operating activities 1,400

Figure 5.3 Direct method of calculation

2. Returns on investment and servicing of finance refers to the payment of
interest on any loans, overdrafts, or finance leases and all interest
received. The section also includes all dividends received, but only
dividends paid to non-equity shareholders and minority interests.
Dividends paid to the parent’s equity shareholders are shown as a
separate item below.

3. Taxation referred to here is UK corporation tax on company profits or
similar taxes overseas on profits earned abroad. Such home and
overseas tax cash flows will normally be payments, but tax recov-
ered in certain circumstances could result in a cash inflow.

4. Capital expenditure and financial investment refers to the purchase and
sale of fixed assets during the period except those included in the
next section — acquisitions and disposals. It also includes loans made
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or repaid that are not part of an acquisition or disposal nor short-
term in nature when they are classed as liquid resources.

5. Acquisitions and disposals relates to payments to acquire and receipts
from the sales of an associate, joint venture or subsidiary business.

6. Equity dividends paid are dividends paid to the reporting entity’s (or
parent in the case of a group) equity shareholders.

7. Management of liquid resources relates to payments and withdrawals
of short-term deposits or other investments held as liquid resources
that are readily convertible into cash and held as current asset
investments.

8. Financing includes receipts and repayments of any form of external
finance, for example, shares, loans, debentures and finance leases.

9. Increase/decrease in cash during the period is the final result of all the
above cash inflows and outflows when totalled. The resulting total
will be reflected in the cash and bank balances as at the period end.
The net cash flow for the period will explain the difference between
net debt at the start of the period and net debt at the end of the
period and a note reconciling the net cash flow to the movement in
net debt is required.

PUBLISHED STATEMENT

Having discussed the detailed contents of each heading in the cash
flow statement, it is now time to look at a complete example and how
the figures contained in it might be interpreted. This is shown in
Figure 5.4.

INTERPRETATION OF THE STATEMENT

The example shown in Figure 5.4 discloses near the end that the
company had a net cash outflow of £120,000 before the management of
liquid resources and financing. An issue of £450,000 new share capital
was undertaken, partly to finance this deficit, partly to repay an old loan
of £150,000, and most of the remainder temporarily going to purchase
treasury bills. The remaining £80,000 went to swell the cash and bank
balances. Looking higher up the statement, we now want to find
reasons why this net cash outflow of £120,000 occurred.
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Cash flow statement

£000

Net cash inflow from operating activities (see Fig 5.2): 1,400
Returns on investments and servicing of finance:

Interest received 25

Interest paid (95)

Preference dividends paid (80)
Net cash outflow from returns on investment and

servicing of finance (150)
Taxation:

Corporation tax paid (400)
Capital expenditure and financial investment:

Payments to acquire tangible fixed assets (670)

Sale of fixed asset investment 120
Net cash outflow on capital expenditure and financial

investment (550)
Acquisitions and disposals:

Sale of interest in joint venture 60

Purchase of subsidiary undertaking (280)
Net cash outflow from acquisitions and disposals (220)
Equity dividends:

Equity dividends paid (200)

(120)

Management of liquid resources:

Sale of treasury bills 40

Purchase of treasury bills (140)
Net cash outflow from the management of liquid

resources (100)
Financing:

Issue of ordinary shares 450

Repayment of loan (150)
Net cash inflow from financing 300
Increase in cash during the period _80

Figure 5.4 Cash flow statement in FRS 1 format

The first calls on operating profit are interest charges, taxation, and divi-
dends — in that order. Payments for all three combined amount to
£750,000 — just over one-half of the £1.34 million operating profit earned.
The remaining profit plus depreciation provisions are available for new
investment in working capital (stocks, debtors, etc), new fixed assets
and acquisitions.

It would appear to be the high level of investment in tangible fixed
assets, amounting to £670,000, that has resulted in the company not
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being totally self-financing in the period and having to resort to new
financing. This capital expenditure is well in excess of the £280,000
depreciation charge for the period. Some of the difference may be
explained by the inflation effect on the cost of replacement assets, but
the remainder is likely to be explained by the purchase of additional
assets.

Dividend distributions of £200,000 do not look excessive in relation to
the £850,000 profit after interest and taxation. If the new acquisition and
investment in working capital and additional fixed assets reflects
growth in the scale of operations, the new financing may be quite justi-
fied, provided an adequate return is earned on those assets.

This third financial statement augments the view users get from
looking only at the profit and loss account and balance sheet of a
company. It adds another perspective of cash flowing into and out of
the company during a period of time, together with explanations and
reasons for them. The first two statements have various limitations
and subjective judgements attached to them which makes their inter-
pretation less precise than users may wish. The cash flow statement
has few, if any, such limitations and tells us literally what its title says
it does.

Further reading

Accounting Standards Board (2006) Financial Reporting Standard No. 1 —
Reporting Statement of Best Practice, London.

Glautier, MWE (2004) Accounting Theory and Practice, FT Prentice Hall,
Harlow.

Reid, W and Myddleton, R (2005) The Meaning of Company Accounts,
Gower Publishing, Aldershot.

Online spreadsheets

Business Link (www.businesslink.gov.uk>Finance_Files_>Cash_Flow_
Projection_Worksheet.xls) has a spreadsheet you can copy and paste
into your own Excel file.
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Self-check questions

1. Why do companies prepare a cash flow statement in addition to
a profit and loss account and balance sheet?

2. What is the difference between the operating profit and the net
cash inflow from operating activities?

3. Which figures would you compare in a cash flow statement to
discover whether a company was merely replacing old fixed
assets or making additions to them?

4. If a cash flow statement shows a final cash inflow for the period,
is it therefore trading profitably?



Accounting
for different
business
organizations

INTRODUCTION

For most practical purposes, the layouts of the profit and loss account
for the self-employed, partnerships, limited companies (and even public
authorities) are identical. The exception comes at the very end of the
statement, which shows the disposition of the profit (or surplus) in taxa-
tion, rewards to the owners and profit retained in the business.

The layouts of the balance sheet are also nearly identical except for
the section showing the owner’s funds invested in the business. There
is more conformity with the assets owned by any type of business,
which are capable of analysis into the now familiar fixed or current
asset categories.

Example

We will compare identical basic information for the year ended 31 December
throughout this chapter and see how it is treated in the different types of business
organization. The standard data are:
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£
Capital originally introduced 30,000
Profit retained at 1 January 18,000
Net profit before tax for the year ended 31 December 24,000
Tax due on profits 9,000
Personal drawings or dividends 10,000
Profit retained in the business 5,000

SELF-EMPLOYED

The sole trader or self-employed situation is the simplest. All the profit
belongs to the one person and it is usual to show the profit before any
personal drawings are charged. This accords with the profit which HM
Revenue & Customs uses to levy income tax as, otherwise, drawings
would not be taxed.

In the balance sheet the original capital and retained profit are
merged into a combined capital account which is reduced by any
personal drawings of the proprietor. As income tax is levied on the
owner rather than on the business it is not usually shown in the
accounts, but treated as drawings when actually paid. These transac-
tions are illustrated in Figure 6.1.

The apparent increase of £14,000 in the owner’s capital account will
be reduced by further drawings at a later date when the £9,000 tax is
paid, leaving capital of £53,000 — an increase of £5,000.

End of the profit and loss account:

Net profit for the year 24,000
Balance sheet:

Capital account:

Balance at 1 January (£30,000 + £18,000) 48,000
Add Net profit for the year 24,000

72,000
Less Personal drawings 10,000
Balance at 31 December 62,000

Figure 6.1 Extracts from accounts for the self-employed
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PARTNERSHIPS

The partnership agreement or, in its absence, the Partnership Act 1890,
may allow for interest on the original capital, for the payment of salaries
to partners, and state the proportions in which remaining profits are to
be shared. Interest and salaries paid to partners are still regarded as
shares of the profit for tax purposes.

It is necessary to show these items in an appropriation section at the
end of the profit and loss account together with the agreed division of
remaining profit. Tax is dealt with in the same way as in sole trader’s
accounts. If interest is paid only on the original capital and not on profits
retained in the business then it is necessary to have separate capital and
current accounts for each partner in the balance sheet.

Example

In the illustration in Figure 6.2 it is assumed that the two partners, A and B,
receive salaries of £6,000 and £4,000 respectively; that 10 per cent inferest is
allowed on their capital accounts; and that any balance of profit is shared
equally between them.

End of profit and loss account:
Net profit for the year 24,000

Interest on capital accounts A 1,000
B 2,000
Salaries A 6,000
B 4,000
Balance divisible equally A 5,500
B 5500 24,000
Balance sheet: A B
Capital accounts: 10,000 20,000 30,000
Current accounts:
Balance as at 1 January 5,700 12,300
Add Interest on capital 1,000 2,000
Salary 6,000 4,000
Share of profit 5,500 5,500
18,200 23,800
Less Personal drawings 4,600 5,400
Balance on current accounts
as at 31 December 13,600 18,400 32,000
Total of partners’ capital and
current accounts 23,600 38,400 62,000

Figure 6.2  Extracts from accounts of a partnership
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The same principle applies here as in the note on self-employed, that the
apparent increase in the partners’ current accounts will be reduced by
further drawings of £9,000 when they make their personal tax
payments. The increase in current account balances will then be £5,000
more than the figure at the start of the year.

LIMITED COMPANIES

A company is a separate entity from its individual owners or sharehold-
ers so that corporation tax payable by the company is shown as an
appropriation of profit together with the dividends paid and proposed
for the year. Any balance of profit remaining, after tax and dividend
have been provided, is not added to the original share capital, but is
shown as a revenue reserve.

Companies are legally obliged to show the issued share capital and
reserves separately in their balance sheets, although together they form
the total shareholders’ funds invested in the business. Tax owing and
dividends declared, but unpaid at the year-end, appear as current liabil-
ities if the tax is due for payment within the next 12 months. See Figure
6.3 for an example.

The revenue reserve of £23,000 comprises £18,000 + £5,000. If an
interim dividend has been paid during the year, only the proposed final
dividend appears as a current liability.

End of profit and loss account: £ £
Net profit for the year 24,000
Corporation tax payable on year’s profit 9,000
Profit after tax 15,000
Dividends on ordinary shares 10,000
Retained profit added to revenue reserves 5,000

Balance sheet:

Authorized and issued ordinary share capital 30,000
Revenue reserves (retained profits) 23,000
Current liabilities:

Corporation tax payable 9,000

Proposed dividend 10,000 19,000
Total 72,000

Figure 6.3  Extracts from accounts for a limited company



Accounting for different business organizations 69

LOCAL AUTHORITIES

The income statement of a local authority or other public body is
prepared on the same principles and conventions as a company profit
and loss account. Their format, however, must take account of the
different way each is financed and the treatment of surpluses or
deficits.

A local authority will publish a revenue account as its income state-
ment. The format of this statement is intended to inform readers of the
cost of providing various services and how expenditure on them was
financed. The precise format is laid down by statute and guidelines
from the relevant professional bodies.

Local authorities use a system of fund accounting for reporting on
their activities. Typical funds will include the general rate fund, the
housing account, the loans fund, the insurance fund and the capital
fund. When all funds are aggregated, a consolidated revenue account
and consolidated balance sheet emerges for the authority.

Of the various funds, the general rate fund embraces many of the
functions traditionally associated with local authorities, so an illustra-
tion of this is shown in Figure 6.4.

Revenue account for the year:

£000 £000

Income (not specific to any expenditure):
Rates 50,300
Block grant 49,000

99,300
Expenditure (net of specific fees, charges, and grants):
Cultural and leisure activities 7,400
Education 58,300
Environmental health 5,600
Finance 4,100
Housing 200
Social services 14,400
Planning 8,900

98,900
Surplus transferred to balance sheet (revenue balances) 400

continued overleaf
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Balance sheet at year-end:

Fixed assets 110,000

Current assets 53,400

Creditors due within one year (23,700) 29,700
139,700

Financed by:

Long-term borrowing 127,000

Provisions for liabilities and charges 900

Revenue balances (including 400 for this year) 11,800
139,700

Figure 6.4 Local authority — general rate fund accounts

CONSOLIDATED OR GROUP ACCOUNTS

Shareholders of limited companies are not necessarily individuals. As a
company is a separate legal entity, it follows that it can be a shareholder
in another company. When the shareholding exceeds 50 per cent of the
voting capital, then that other company is called a subsidiary of the
parent or holding company. This is very commonplace in the UK, where
many public and private companies wholly, or partly, own other
(subsidiary) companies.

Each individual company must produce and distribute to its share-
holder(s) a set of annual accounts. However, the various companies in a
group are parts of one single undertaking and the consolidated
accounts are the means of informing the parent company’s sharehold-
ers of the financial position and performance of the combined compa-
nies which it controls. The legal requirements are to present:

a consolidated profit and loss account;
a parent company balance sheet;
a consolidated balance sheet.

The precise requirements are very complex and are contained in FRS No
2, Accounting for Subsidiary Undertakings, but the basic elements of
consolidation are now described below.

Consolidated profit and loss account

This statement combines all the separate profit and loss accounts of the
parent and subsidiary companies. Where the subsidiary companies are
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wholly owned, then sales, trading profit, interest, tax, etc, are aggre-
gated item by item. Sales to other group companies which have not
been resold to third parties must be eliminated, as must any profits on
such sales or interest on inter-group loans. The logic here is that a
company cannot sell to, or profit from, itself.

In the case where all subsidiary companies are not wholly owned
then all of the profit does not belong to the parent company. The
proportion of the profit after tax belonging to the outside shareholders
is deducted to arrive at the profit attributable to the parent company’s
shareholders. These outside or minority shareholders in subsidiary
companies are called minority interests. An abbreviated example of a
consolidated profit and loss account showing a share of profits going to
such minority interests is illustrated in Figure 6.5.

£
Sales 10,000,000
Cost of sales (5,600,000)
Gross profit 4,400,000
Distribution costs (2,670,000)
Administrative expenses (1,133,000)
Income from interests in associated undertakings 130,000
Operating profit 467,000
Income from investments 50,000
Net interest payable (103,000)
Profit on ordinary activities before tax 414,000
Tax on profit on ordinary activities (140,000)
Profit on ordinary activities after tax 274,000
Minority interests (15,000)
Profit attributable to ordinary shareholders 259,000
Ordinary dividends (57,000)
Retained profit of parent company 202,000
Earnings per share 31.6p

Figure 6.5 Example of a consolidated profit and loss account

Sometimes companies own shareholdings in other companies or joint
ventures, over which they can exert significant influence but which they
do not control. Typically, this is when they own between 20 per cent and
50 per cent of the voting capital, so that they are not classified as
subsidiary companies but are called associated undertakings (see FRS 9 in
Appendix 1).
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When producing a consolidated profit and loss account, the holding
company must disclose its proportionate share in associated company
profits and losses, irrespective of whether or not it receives such profits
as dividends. This is illustrated in Figure 6.5 as income from interests in
associated undertakings of £130,000. However, it does not disclose its share
of the turnover and expenses of such associates in the consolidated
profit and loss account.

When a company owns less than 20 per cent of another company,
this is treated as a fixed asset investment and only the income received
from such investments (as opposed to a proportionate share of profits) is
shown in the consolidated profit and loss account. This amounts to
£50,000 in the example shown in Figure 6.5.

Parent company balance sheet

This has all the appearance of a normal balance sheet except that
included in the assets will be the cost of shares owned in subsidiary (and
associated) companies plus any amounts owed by them. Conversely, if
the parent company has borrowed money from a subsidiary company
this indebtedness will also be disclosed.

Consolidated balance sheet

A consolidated balance sheet is prepared by adding together the indi-
vidual balance sheets of the parent company and its subsidiaries. This is
achieved as follows:

1. All fixed and current assets and external liabilities are amalgamated
item by item.

2. Inter-company indebtedness is eliminated.

3. The cost of the investment in subsidiary companies cancels out the
proportion of the shareholders’ funds acquired in those companies.

4. If there is an excess purchase cost over the value of shareholders’
funds acquired, this is called goodwill. Conversely, a capital reserve
occurs when the purchase cost is less than the value of shareholders’
funds acquired.

5. The amount of shareholders’ funds in subsidiary companies owned
by outside shareholders is shown separately as minority interests.
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Example

The simplest situation is where a parent company (P Ltd) sets up a wholly owned
subsidiary (S 100% Lid) from the beginning. In this case there are no minority
interests and no goodwill to concern us. The relevant balance sheets are set out
in Figure 6.6, together with the resultant consolidated balance sheet. These are
shown in horizontal format for ease of illustration.

P Ltd balance sheet
£000 £000
Issued share capital 22,000 Fixed assets 11,000
Reserves 1,300 Investmentin S 100% Ltd 10,000*
23,000 LoantoS 100% Ltd 2,000t
Current liabilities 1,200 Current assets 1,500
£24,500 £24,500
S 100% Ltd balance sheet
£000 £000
Issued share capital 10,000*  Fixed assets 17,300
Reserves 15,400 Current assets 21,100
25,400
Loan from P Ltd 2,000t
Current liabilities 11,000
£38,400 £38,400
P Ltd consolidated balance sheet
£000 £000 £000 £000
Issued share capital 22,000 Fixed assets 11,000
Reserves 1,300 17,300 28,300
15,400 16,700
Current liabilities 1,200 Current assets 1,500
11,000 _12,200 21,100 _22,600
£50,900 £50,900

Note The items cross-referenced with symbols T and * cancel each
other out in the consolidated balance sheet.

Figure 6.6 Consolidated balance sheet — wholly owned subsidiary

When a subsidiary company is only partly owned, then all the assets (less
debts) are not owned by the parent company even though they are all
shown in the consolidated balance sheet. Therefore the value of these
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assets, which equals the value of shareholders’ funds owned by outsiders
in the subsidiary company, is shown as a liability on consolidation.

Example

We will now assume that parent company (P Lid) owns only 80 per cent of @
subsidiary company (S 80% Lid) which was sef up in conjunction with another
company who provided the other 20 per cent of the share capital. The relevant
balance sheets are now set out in Figure 6.7.

P Ltd balance sheet
£000 £000
Issued share capital 30,000 Fixed assets 22,000
Reserves 15,000 Investment in S 80% Ltd 20,000*
45,000 Loanto S 80% Ltd 5,000t
Current liabilities 5,000 Current assets 3,000
£50,000 £50,000

S 80% Ltd balance sheet

£000 £000
Issued share capital 25,000* Fixed assets 35,000
Reserves 10,000
35,000
Loan from P Ltd 5,000t
Current liabilities 20,000 Current assets 25,000
£60,000 £60,000

P Ltd consolidated balance sheet

£000 £000 £000  £000
Issued share capital 30,000 Fixed assets 22,000
15,000 35,000 57,000
Reserves (80%) _8,000 23,000
53,000

Minority interests
(20% x 35,000) 7,000

Current liabilities 5,000 Current assets 3,000
20,000 _25,000 25,000 _28,000
£85,000 £85,000

Note The inter-company loan cross-referenced T cancels itself out. The
investment in the subsidiary of £20,000 cancels out 80% of the issued share
capital of the subsidiary; the other 20% being part of minority interests.

Figure 6.7 Consolidated balance sheet — partly owned subsidiary
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If the subsidiary had been bought at a later stage then the cost of the
investment must be matched against the value of shareholders’ funds
acquired, including the pre-acquisition profits held in reserves. This
comparison determines whether goodwill or a capital reserve arises on
consolidation at the year-end. Only post-acquisition profits in the
subsidiary are included in the consolidated reserves. The distinction of
profits of the subsidiaries into ‘pre-" and “post-acquisition’ is also impor-
tant for dividend purposes. The parent company must not pay divi-
dends to its shareholders from pre-acquisition profits of subsidiaries.
These matters are more complex than the purpose of this book allows us
to pursue, so interested readers should follow them up elsewhere.

In this chapter we have examined the final accounts for differing
types of organization and shown how the statements are usually
presented in a modern format. We have also looked at the principle of
consolidation because most published accounts of quoted companies
represent the activities of a group rather than a single company.

Further reading

Accounting Standards Board (1992, amended 2004) Financial Reporting
Standard, No. 2, London.

Ellwood, S (2006) Finance and Accounting for the Public Services,
Butterworth-Heinemann, Oxford.

Glautier, MWE (2004) Accounting Theory and Practice, FT Prentice Hall,
Harlow.

Reid, W and Myddleton, R (2005) The Meaning of Company Accounts,
Gower Publishing, Aldershot.

Self-check questions

1. Why does a self-employed person not normally show drawings
in their profit and loss account list of expenses?

2. Subject to any partnership agreement, in what ways may part-
ners share out the profit between themselves?

3. Is the retained profit for the year of a limited company, the
profit before or after charging tax and dividends?

4. Why are consolidated accounts prepared for a group of
companies?

5. What are minority interests in a group balance sheet?



/ Accounting
for inflation

INTRODUCTION

Unfortunately, inflation is like the poor — always with us. Economic histo-
rians can point to times past when the value of money actually increased
but these have been short-lived. In the present inflationary era, albeit at a
relatively low rate, we need to be able to distinguish between the appar-
ent profit of a business and its real profit after allowing for inflation. Top
management of companies certainly need to know what the real profit is
in order to form rational dividend and investment policies. This chapter
explains the problems caused by inflation before explaining how
accountants can deal with them in accounting statements.

THE PROBLEM OF INFLATION

Inflation has been present in the UK, as in the world economy, through-
out the whole post-war period. When the rate of inflation is at a mild rate
of, say, less than 4 per cent per annum, accountants along with others
largely ignore its existence when preparing the annual accounting state-
ments of profit and loss account and balance sheet. This is not necessarily
the case when accountants consider the effects of inflation on pricing,
dividends, new investment and other management decisions.

Over a number of years, however, even a modest rate of inflation like
4 per cent per annum has a dramatic effect on the value of the assets of a
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firm. Even more important is the effect on the replacement cost of such
assets when they eventually wear out and have to be renewed, and
whether or not the business has allowed for this in its calculation of
profit.

Example

A company buys fixed assefs costing £2 million and expected fo last five years.
It charges depreciation on their historic cost at £400,000 pa in each of the five
years. Profits are fully distributed to shareholders each year so that no additional
capital is retained. Assuming inflation at 5 per cent pa the replacement cost of
the fixed assets is £2,552,000 at the end of five years, but only £2 million
depreciation has been accumulated. Therefore, over £0.5 million new capital
may have fo be raised just fo continue in business.

A number of basic problems are presented by inflation when preparing
the annual accounting statements of profit and loss account and
balance sheet. Profits are overstated when the costs of depreciation and
stock consumed during the year are based on their original acquisition
cost and not on their current replacement cost. The values of fixed
assets and stock shown in the balance sheet are understated when
based on their original cost. In turn this undervalues the capital
employed in the company. The combination of these factors means that
the return on capital is considerably overstated, as the following example
illustrates:

Example
£10m historic cost profit
(charging depreciation and stocks at original cost)

= 25% return on
£40m capital employed capital
(basing asset values on original cost
less depreciation)

£9m current cost profit
(charging depreciation and stocks at
replacement cost)

= 20% return on
£45m capital employed capital
(basing asset values on replacement cost
less depreciation)
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Another problem caused by inflation is that assets held in the form of
money lose some of their value over time. Debtors and cash itself are
cases in point. Conversely, firms gain by borrowing money and owing
creditors for supplies because no allowance for inflation is made at the
time repayment takes place. These gains and losses are excluded from a
conventional profit and loss account.

If real profits are not measured, there is the danger that firms will be
too generous with wage increases, dividend payments and other bene-
fits to the detriment of new investment. Some companies may pay divi-
dends they have not really earned because they have not allowed for
the extra costs of inflation in their profit and loss accounts. If inflation is
ignored in the day-to-day running of the business, there is also the
danger that selling prices may not reflect the up-to-date costs of stock
and asset replacements. Hence insufficient cash will be generated to
maintain the same trading level without recourse to more and more
borrowing.

DIFFERENT ACCOUNTING SYSTEMS

In the 1970s when the rate of inflation in the UK rose into double
figures, and by the mid-1970s threatened to turn us into a banana
republic, the professional accountancy bodies were involved in a long
debate about how best to show the effects of inflation in accounting
statements. One contentious point was whether to use general or
specific price indices when revaluing stock or fixed assets. Another issue
was whether to show the whole effects of inflation as falling on the
firms” owners or whether to apportion it to different providers of
capital. Some members of the profession preferred to ignore inflation
and advocated continuing to provide statements based on the original
value of transactions, ie historic cost accounting, on the basis that no
subjective judgements were required.
Broadly speaking, there are three options available:

historic cost accounting;
current purchasing power accounting;
current cost accounting.
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Historic cost accounting (HCA)

This is the system still adopted by virtually all UK companies for exter-
nal reporting purposes. No adjustments are made in the profit and loss
account or balance sheet to recognize the effects of inflation. This does
not exclude the occasional revaluation of a specific fixed asset, for
example, property, when the fixed assets are described as modified
historic cost. One purpose of this revaluation may be to enhance the
security available for taking on increased borrowing.

Only one company traditionally did not present its accounts in
historic cost form. British Gas uses replacement cost for its asset values
and charges depreciation on these values in its profit and loss account.
The combined effect is to lower the return on capital compared to what
it would be when calculated on an historic cost basis. However, the
published accounts disclose profit in historic cost terms in supplemen-
tary notes to the accounts.

Current purchasing power accounting (CPPA)

This system was recommended by the Sandilands Committee in the
1970s whereby all transactions in the financial statements would be
adjusted to the present time by reference to changes in the Retail Price
Index (RPI) — a general measure of inflation calculated monthly by the
National Statistical Office. This did not find favour with accountants
particularly, as it was felt that a general price index would not accurately
measure the effects of inflation on individual businesses. This was
because the resources used by them varied so much from one industry
to another, as well as from the basket of goods and services used in the
RPI The CPPA system never really came into effect.

Current cost accounting (CCA)

In March 1980 the accountancy profession published its Statement of
Standard Accountancy Practice No 16, entitled Current Cost Accounting.
This SSAP required listed companies and larger private companies to
clarify the effects of inflation on both the profit earned in the year and
on the value of assets held at the year-end. This was achieved by the
company producing supplementary statements to the historic cost
profit and loss account and balance sheet. Although this SSAP was with-
drawn in 1988 for reasons explained later, it is useful to examine the
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processes involved in CCA to gain a better insight into the effects of
inflation. The system is still used by companies in industries such as
electricity distribution and supply which are subject to regulation, and
where the regulator requires both HCA and CCA information.

CURRENT COST ACCOUNTING STATEMENTS

Current cost profit and loss account

A supplementary profit and loss account statement contains four
adjustments to the historic cost profit to arrive at the current cost profit
attributable to the owners as Figure 7.1 illustrates. It is important to
realize that the thrust of the statement is to show the effects of inflation
on the profit earned for the shareholders, rather than the effects of infla-
tion on the business as a whole.

£000 £000

Profit as per ‘historic cost’ profit and loss account 1,000
Less: Depreciation adjustment, being the extra cost of

depreciation calculated on the replacement cost

of assets instead of their original cost. 200
Less: Cost of sales adjustment, being the extra cash needed

to replace stocks at prices ruling at the time of sale. 300
Less: Monetary working capital adjustment, being the

additional cash needed to give credit to customers

for the inflated value of goods and services provided,

less any extra credit received from suppliers. 100 600
Equals:
Current cost operating profit 400
Add: Gearing adjustment, being the proportion of the above

three adjustments not required to be borne by the

shareholders if part of the company’s capital is borrowed

(assumed 40% here). 240
Equals:
Current cost profit earned for shareholders 640

Figure 7.1 Example of current cost profit and loss account

The historic cost profit of £1,000,000 is shown as being overstated when
compared to the current cost operating profit of £400,000, which allows
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for the inflated costs of replacing fixed assets and stocks and giving
more credit to customers. Some of these additional costs are offset by
not having to recompense the providers of borrowed capital for the
effects of inflation, so that the current cost profit earned for the owners
comes out at £640,000.

The way the first three adjustments are calculated largely makes use
of index numbers supplied by the National Statistical Office to track the
price movements of various assets and materials used in a variety of
industries. In the event of a suitable index not being published a firm
can construct its own in-house index.

Example

To illustrate the basic approach, the depreciation adjustment is calculated from
the following information. A firm bought some fixed assets during 2005 at a cost
of £2 million and expected them to have a five-year life. Depreciation on a
straightline basis amounts to £400,000 per annum. The average price index
for this type of asset was 120 in 2005 and 160 in 2008. The depreciation
adjustment for 2008 gives the additional depreciation required to supplement
the original £400,000 depreciation charged in the historic cost profit and loss
account. In this example the extra depreciation amounts to £ 100,000 for 2008
and this figure appears in the supplementary current cost profit and loss account.

The calculations are as follows:

Total depreciation based on current cost of £400,000 83, = £500,000
Depreciation already provided in historic cost profit

and loss account = £400,000
Depreciation adjustment for 2008 = £100,000

Current cost balance sheet

The supplementary balance sheet values all assets at their current
replacement cost at the balance sheet date. When inflation increases the
value of an asset in money terms, it might appear that the balance sheet
will no longer balance. This is remedied by creating a special reserve
called a current cost reserve, or revaluation reserve, which is part of the
shareholders’ funds and effectively updates the value of the sharehold-
ers’ investment in the business. If, for example, the value of fixed assets
rose by £1 million by the year-end then this reserve will also be
increased by £1 million. This keeps intact the balance sheet equation
that assets must always equal liabilities.
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Example
Let us take the example of a firm owning £1 million assets financed totally by
share capifal. The financial position can be sef out as:

Balance sheet (HCA)
Total assets £1,000,000 | Share capital £1,000,000

Assume now that because of inflation the assets increase in value by
£50,000. The current cost balance sheet now is:

Balance sheet (CCA)
Total assets £1,050,000 “ Share capital 1,000,000
Revaluation reserve 50,000

£1,050,000

The differences between a current cost balance sheet and a historic cost
one are limited to the valuation of assets and the revaluation reserve. All
assets are revalued to their replacement cost at the balance sheet date
while debtors and cash remain unaffected. All liabilities are unaffected
by inflation except for the revaluation reserve which accumulates the
asset revaluations and the four profit adjustments shown in the current
cost profit and loss account.

REACTIONS

SSAP 16 was introduced for a trial period of three years to be reviewed
in 1983. Its use was extended until 1985 when it ceased to be mandatory
due to lack of support from within and without the profession.
Accountants found it an expensive and time-consuming task to produce
the required data in another form. They also found a mixed response
from intended users of the additional information either on the grounds
of its complexity or disagreement with the rationale, and it is now
applied by few firms. Centrica (formerly British Gas) is one of those few
companies publishing current cost accounts as its main financial state-
ments, although a number of other privatized utilities produce them for
their regulators. Centrica’s directors state in their accounts that they
believe that only by using current costs can a true measure of their type
of business be made.
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There was hope that HM Revenue & Customs would accept the
current cost procedures outlined in SSAP 16 as a basis for taxing real
profits. They appeared to reject this, possibly on the grounds of the
subjectivity allowed to individual companies when choosing relevant
price indices and asset lives.

It is doubtful if company managers, investors, employees and possi-
bly even accountants, understood all the ramifications of the current
cost adjustments. The effects of inflation on pricing policy, working
capital requirements, corporation tax assessments, dividend policy, the
cost of capital and wage claims are complex, and not easily understood.
The tendency was for companies, unions and the financial press to
concentrate on the well-known, but misleading, HCA figures and
ignore the more accurate supplementary CCA information.

In 1980 a leading firm of stockbrokers estimated that 40 per cent of
UK companies were paying dividends not covered by current cost earn-
ings, ie excessive dividends were eroding the real capital base of these
companies. With inflation down to below 5 per cent since the 1990s, this
is no longer the case, especially as many companies pay less than half
their profit out as dividends.

This chapter has concentrated on the effects of inflation on informa-
tion contained in the annual accounting statements of the profit and
loss account and balance sheet. It demonstrates how, if inflation is
ignored, profits are overstated and assets are understated in terms of the
current value of money.

Accountancy procedures used in the early 1980s to correct this, by
producing supplementary CCA statements, have been explained. These
allow a more correct assessment of the return on capital, of the profits
available for distribution as dividends and of the book value of
company shares. It is assumed that companies’ top management and
city analysts use this way of thinking when making judgements about
financial performance.

Inflation has other effects on company finances. Questions as to what
values to use when pricing, budgeting, setting standards and appraising
investments are left until the relevant chapters containing these tech-
niques. Even if inflation adjustments are not shown in their published
annual accounts, organizations will consider the effects of inflation
when making these policy decisions.

In recent years inflation has been lost to the attention of the account-
ing profession. Recently, with the enlargement of the EU, particularly in
2007 with the inclusion of Bulgaria and Romania, inflation rates of
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around 5 per cent are becoming more common — and hence need to be
accounted for.

Further reading

Accounting Standards Committee (1980) Current Cost Accounting: SSAP
No 16, London.

Glautier, MWE and Underdown, B (1997) Accounting Theory and Practice,
FT/Pitman, London.

Lewis, R and Pendrill, D (1996) Advanced Financial Accounting,
FT/Pitman, London.

Wittington, G, Brown, W and Child, J (1983) An Introduction to Inflation
Accounting, Cambridge University Press, Cambridge.

Self-check questions

1. What is the difference between a historic cost profit and a
current cost profit?

2. What happens if a firm distributes all of its historic cost profit as
dividends at a time of high inflation?

3. Name the four adjustments to historic cost profit that appear in
a current cost profit and loss account.

4 . If an asset is revalued, how does a balance sheet still balance?
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INTRODUCTION

The value of the wealth created in any country during a period of time is
called its gross domestic product (GDP) and increases in this wealth are
referred to as economic growth. In the UK and other developed coun-
tries, GDP is measured each quarter, building up to an annual total.

This wealth is the value of the goods and services produced by meas-
urable economic activity — in other words, the money value of the
output of firms of all sizes in all industries. There are some problems
posed for the official statisticians when they tackle this exercise. One is
the existence of the black economy whereby there is no recorded
economic activity for what in the UK is deemed to be billions of pounds
of economic activity.

The other main problem lies in avoiding double counting the same
output when it passes from one firm to another and one industry to
another. The answer lies in calculating the size of output on a value
added basis.

Example

Consider the gas indusiry. Gas is used fo generate electricity, which is used to
produce steel, which in turn is used to manufacture cars. If we fake the fofal final
value of gas, electricity, steel and cars produced in the UK in a year, we would be
counting the value of gos four fimes over and not just once. But if we deduct the
value of all the boughtin goods and services from the sales of each industry, we are
left with the value added by that indusiry alone. This avoids all double counting.

85
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DEFINITION OF VALUE ADDED

Just as we can measure the wealth created by a country or an industry,
so we can for a single company. The wealth created by any business is
the value of its sales less the cost of all the bought-in goods and services
(which is wealth created by other firms).

Value added = Sales /ess all bought-in goods and services

All firms are creators of wealth. They buy in raw materials and services,
which they then convert or process into a product or service, which in
turn they sell to their own customers. The difference between the final
sales value and the original bought-in materials and services is the value
added by that firm. It is this wealth a company has available for distribu-
tion to the four interested parties:

employees;
government;
providers of capital;
the company itself.

We can think of a firm as a kind of partnership between these four
parties. Employees bring their various skills while the government
provides the environment in which firms and employees more easily
prosper from the various services provided. Shareholders and loan
providers allow their capital to be used to finance the production
process while the firm brings together all the assets needed to carry
out its economic function. It is these four partners who always share in
the wealth created by themselves, although the shares are by no
means equal.

VALUE ADDED STATEMENT

A typical value added statement for a firm appears in Figure 8.1, but it
should be remembered that the four-way split differs from firm to firm
and industry to industry.
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£000
Sales 230
Less: Bought-in goods and services 130
Value added 100
This was distributed as follows:
To employees — as wages, salaries, pension, and
NI contributions 70
To government — as taxes on profits 8
To providers of capital — as interest and dividends 10
To reinvestment — as depreciation and retained profits 12 100

Figure 8.1 Typical value added statement

COMPARISON WITH A PROFIT
AND LOSS ACCOUNT

The principles on which a value added statement is prepared are the
same as for a profit and loss account. The conventions of realization
and accrual are followed, as is the concept of matching the cost of sales
with sales in the same accounting period. Therefore, any increase in
stocks of work-in-progress and finished goods is not counted as part of
the wealth created in this period because the sale has not yet taken
place. Conversely, a decrease in such stocks counts as wealth created in
this period.

Statisticians, however, do take these stock changes into account
when calculating the total value of national output. Companies like-
wise would also have to take these stock changes into account when
basing incentive payments on value added. If not, this might appear to
be a perverse way of looking at things from an employee’s viewpoint if
an individual month’s added value bonus does not exactly reflect
employee productivity in that same period of time.

Value added statements and profit and loss accounts are both
prepared from the same financial data. Their difference lies in the pres-
entation and orientation of the contents. A profit and loss account gives
a narrow, shareholder-centred view of company performance,
unashamedly so, because this is the design concept.
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Part (a) Profit and loss account:

£000 £000
Sales 1,000
Less: Materials used* 300
Services purchased* 130
Wages and salaries 350
Depreciation 90
Interest on loan 50 920
Profit before taxation 80
Corporation tax on profit _30
Profit after taxation 50
Dividends 30
Retained profit 20
Part (b) Value added statement:
£000
Sales 1,000
Less: Bought-in materials and services (¥*300 + *130) 430
Value added 570
This was distributed as follows:
% £000
To employees — wages, salaries, pensions and NICs 61.4 350
To government — corporation tax on profit 5.3 30
To providers of capital — interest and dividends 14.0 80
To reinvestment — depreciation and retained profit 19.3 110
100.0 570

Figure 8.2 Comparison of (a) profit and loss account with (b) value added
statement

However, the very word profit does have an emotive and political
undertone when viewed by parties other than shareholders. A value
added statement, however, concentrates on wealth creation rather than
profit and shows its distribution to all four parties, not just one, who
have contributed. In addition to the absolute values, the percentage
share of value added going to each of the four parties is shown.

We can see both the similarities and the differences if we examine the
two statements, both of which are prepared from the same basic data as
in Figures 8.2 (a) and (b).

Very few companies are producing value added statements as an
integral part of their annual report, although the Corporate Report
issued way back in 1975 recommended that practice.
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There are no fixed percentage shares of value added applicable to all
companies. In a capital-intensive industry, the share of wealth going to
labour should be smaller to allow for the servicing of large amounts of
capital and a high level of reinvestment to replace worn-out plant.
Conversely, in a labour- or material-intensive industry, the proportion of
value added going to labour will be higher because the amount of
capital to be serviced and the replacement investment are not so large.

It can be argued that in some firms the proportion of wealth going to
one party has been too large, resulting in too small a distribution else-
where. The classic trade-off is between labour and capital reinvestment.
Some financial experts have commented that, in many of our declining
industries, the level of reinvestment has been much too low to keep the
UK competitive internationally. Others have pointed to poor productiv-
ity, which results in low value added, low reinvestment and an appar-
ently high distribution of wealth to labour.

This debate lies at the heart of how we are to continue to improve
our economic performance as a nation, particularly on the manufac-
turing front. Improvement in productivity and reinvestment levels,
often aided by foreign inward investment from the United States and
Japan, has begun to show through into an improved position for UK
manufactured exports.

USES OF VALUE ADDED

There are two main uses to which value added statements can be put.
Shareholders reading the statement can note the trend of distributions
to themselves, to the labour force and to reinvestment for growth. Any
tendency to an increased labour share at the expense of reinvestment
may lead them to reconsider their continued shareholding.

Trade union officials and employees will find the value added state-
ment more helpful than the profit and loss account. The size of value
added puts an absolute maximum on employee remuneration even if one
could ignore the legal claims for interest and tax. Employees are shown to
be the recipients of the lion’s share of wealth in many companies and the
debate on conflicting claims is more easily conducted using the value
added statement. Perhaps more emphasis needs to be placed on increas-
ing the size of the cake (value added) than on squabbling about the size of
the four slices which in reality boils down to three, or even only two.
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The other main use of the value added concept is in measuring
performance. Chapter 9 introduces the idea of using ratios to measure
aspects of cost control and asset utilization aimed at improving the
return on capital. In a similar way we can examine the trend of value
added per worker, or £ wages per £ value added to monitor labour productiv-
ity. Likewise, we can appraise capital productivity via the ratio £ value
added per £ capital employed. Comparisons of these ratios between similar
firms can only stimulate a more informed debate on efficiency and
productivity.

Consideration should also be given as to whether the value added
statement is produced on a historic or current cost basis. The latter
would seem more appropriate because only after allowing for the cost of
sales, depreciation and monetary working capital adjustments can we
talk about the real wealth created at today’s prices.

Employee reports

This topic is introduced here because of its affinity to the value added
statement, which is often used to communicate basic financial informa-
tion to employees in place of the profit and loss account. Most employ-
ees (and many shareholders for that matter) find the annual accounts
totally confusing and, increasingly, firms prepare a short, salient finan-
cial report just for their employees’ consumption.

The cornerstone of this report is usually a value added approach,
describing the wealth created in the year and how it has been distrib-
uted. Sometimes an abbreviated profit and loss account is given, but it is
perhaps confusing to present both. Balance sheets are rarely given
exceptin a highly summarized manner. The whole purpose of employee
reporting is to communicate a few key facts on company performance
which can be readily understood, rather than a morass of accounting
detail which can thoroughly confuse the untrained reader.

Further reading

Shaw, P (2006) The Four Vs of Leadership: Vision, Values, Value-Added and
Vitality, John Wiley, Sussex.

Wood, F and Sangster, A (2002) Business Accounting Vol 2, FT Prentice
Hall, Harlow.
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Self-check questions

Define value added.

2. A value added statement is based on the same concepts, and
uses the same information, as which statement?

3. How might a firm use the value added to measure changes in
productivity and efficiency?

Name the four parties to whom value added is distributed.

Even when firms do not include a value added statement in
their annual reports, they may distribute one to which party?



g Financial
ratios

INTRODUCTION

Earlier chapters have examined the two most important financial state-
ments of profit and loss account and balance sheet. To recapitulate — the
trading performance of a company for a period of time is measured in
the profit and loss account by deducting running costs from sales
income. A balance sheet sets out the financial position of the company at
a particular point in time, namely, the end of the accounting period. It
lists the assets owned by the company at that date matched by an equal
list of the sources of finance.

A person experienced in reading company accounts can get some
insight into a company’s affairs by examining these financial statements.
Changes in some of the key items can be identified by comparing the
current year’s figure with the previous year’s figure, but conclusions
drawn from this approach can be misleading. Consider the following
situation.

Example

Consider a company whose profit increased by 5 per cenf over the previous
year. This might appear fo be a good performance unfil one considered that a 4
per cent rate of inflation existed during the year, and that an exira 10 per cent of
capifal employed was needed to earn that extra profit.

Q2
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Analytical approach

Experienced and inexperienced readers of accounts will benefit from a
more methodical analysis of the figures. The main analytical approach is
to examine the relationship of pairs of figures extracted from the
accounts. A pair may be taken from the same statement, or one figure
from each of the profit and loss account and balance sheet statements.
When brought together, the two figures are called ratios, although this
term is not always used in the normal sense of the word. Some of the
ratios are meaningful in themselves, but their value mainly lies in their
comparison with the equivalent ratio last year, a target ratio, or a
competitor’s ratio.

All too frequently one sees television or newspaper reporting that
some leading company made £x million profit last year. As a sum of
money the figures sound very large and more naive audiences might be
tempted to think of excessive prices being charged. Such reporting is
almost meaningless without reference to last year’s figure, the size of
the company’s sales, or the amount of capital employed. In other words,
the absolute value of profit is not as meaningful as, say, the return on
capital employed or the profit margin on sales, both of which are
expressed as percentages.

Forms of ratios

Ratios can be expressed in one of three forms although it is mainly
convention which determines which form one particular ratio will take.
The three forms are:

a percentage — say when profit is expressed as a percentage of sales

turnover;

a multiple — for example, sales being three times the size of the
capital employed;

a true ratio — as when the ratio of current assets to current liabilities
was 2:1.

KEY RATIOS

Most of the main ratios are concerned with aspects of profitability and,
like any personal financial investment we might make, the key concern
is with the return on capital invested. We calculate this by expressing
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profit as a percentage of capital. This in turn is influenced by two further
ratios comprising the profit margin (profit as a percentage of sales) and
the rate of turnover of capital (sales divided by capital).

Example
Using sample figures when profit is £1 million, sales are £10 million, and
capital is £5 million, then:

Return on capital = Profit margin X Turnover of capital
Profit £1m x100% _ Profit £1m x 100% Sales £10m
Capital £6m Sales £10m Capital £6m

20% = 10% X 2 times

The typical refurn on capital will vary from one industry to another (and firm to
firm), but wider variations may be found in their profit margin and rates of
turnover of capital. Figure 9.1 shows various assumed ways in which, say, a 20
per cent return on capital could be achieved in different industries.

Industry Return = Profit margin X Turnover
on capital of capital rate

Contracting 20% = 2% 10 times

Food retailing 20% = 4% 5 times

Heavy engineering 20% 10% 2 times

Figure 9.1 Sample performance ratios

Profit margins in contracting may be only 2-3 per cent, but this is offset
by a very high rate of asset turnover. In more capital-intensive indus-
tries, with a long production cycle, the low rate of asset turnover is
compensated for by a high profit margin.

These three key ratios are only the starting point from which a number
of subsidiary ratios can be calculated relating either running costs or
assets to sales. Figure 9.2 shows this approach in diagrammatic form.

Financial ratios can be broken down into groups that are used to
analyse specific aspects of a company’s financial performance and
standing. Typical ratio groups examine the areas of:
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Profit
Capital employed

%

Profit Sales

% .
Sales X Capital employed No oftimes

Production cost of sales o Sales
Sales ’ Fixed assets No oftimes

Administrative costs % Sales .

Sales Working capital N0 oftimes

Selling and distribution Sales
costs % Stocks No oftimes

Sales |
Creditsales

Debtors No oftimes

Figure 9.2 Key performance ratios

profitability;

efficient use of assets;
liquidity (short-term);
liquidity (long-term);

financial investment.

A more precise definition and meaning of the most important ratios are
now given.

PROFITABILITY RATIOS

Return on equity

This ratio is usually expressed as a percentage in the way we might
think of the return on any personal financial investment. Both profit
and capital may be defined in different ways, the choice of which
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depends on the use to which the ratio is put. From the owners” view-
point, their concern is with the profit earned for them relative to the
amount of funds they have invested in the business. The relevant profit
here is after interest and tax (and any preference dividends) have been
deducted. This is expressed as a percentage of the equity which
comprises ordinary share capital and reserves. Therefore:

. Profit after taxation X 100
Return on equity = - - %
Ordinary share capital + reserves

The above ratio will be influenced not only by the trading performance
but also by the mix of owners’ and borrowed capital used by that partic-
ular company. A company which fails to achieve a return on equity
commensurate with shareholder expectations has a doubtful future in
its present form.

Return on capital employed

This takes a wider view of company performance than return on equity
by expressing profit before interest, tax, and dividend deductions as a
percentage of the total capital employed, irrespective of whether this
capital is borrowed or provided by the owners. This states:

Retl.”n on Profit before interest, tax and dividends x 100
capital employed = - %
Total capital employed

Capital employed is defined as share capital plus reserves plus long-
term borrowings. This should also be equal to total assets less current
liabilities, which amount is disclosed as such in the balance sheet.
Where, say, a bank overdraft is included in current liabilities every year
and in effect becomes a source of capital, this may be regarded as part of
capital employed. If the bank overdraft varies considerably from year to
year, a more reliable ratio to use may be return on total assets. This will
facilitate the year-by-year comparison of this ratio and show a more reli-
able trend.

There is no one precise definition used by companies for capital
employed. The start- and end-year figures should be averaged if the infor-
mation is available. Also, some companies adjust their capital employed
figure to allow for cash balances and tax and dividend liabilities.
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Further points to bear in mind are that a revaluation of fixed assets in
one year will affect the value of equity and capital employed and hence
distort year-on-year comparisons. Goodwill written off to reserves in
previous years depresses the true value of both equity and capital
employed and results in higher percentage returns on capital than are
really the case. This can make inter-company and international compar-
isons less meaningful unless adjustments are made to correct any differ-
ent treatment of such items.

Gross profit margin

This ratio measures the margin earned on its sales and in effect acts as a
monitor of buying (or manufacturing) and selling prices. It can also be
influenced by a change in product mix when different product lines
have different gross margins. Any change in the mix of volumes will
affect the overall gross margin.

. Gross profit x 100
Gross margin = %
Sales

Net profit margin

In effect this ratio measures the net profit after the cost of sales and all
overheads have been deducted from sales and expresses the resultant
figure as a percentage of sales.

Netprofit ~ Net profit before tax, interest, and dividends x 100
margin - Sales

()

It is usual to take the profit before tax, interest and dividends because all
are subject to influences which have nothing to do with the basic
trading performance. We are really saying that profit margins are deter-
mined by the cost of sales, overhead costs and selling prices rather than
the capital mix or effective tax rate at any point of time. An extension of
this ratio is to express every profit and loss item as a percentage of sales.
Figure 9.3 is an example of this approach:
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%

Direct labour/sales 23
Direct material/sales 25
Production overheads/sales 14
Administration overheads/sales 15
Selling and distribution overheads/sales 13
Profit/sales 10
Total sales 100

Figure 9.3  Percentage analysis of profit and loss account

As previously stated, the absolute value of these ratios has little
meaning. Ratios are like fingerprints in detective work. They point in a
direction that appears to merit further investigation when shown to
compare adversely with previous experience, targets or competitors’
ratios. Some of these themes are discussed in later chapters.

EFFICIENCY RATIOS

This group of ratios is concerned with asset management and its effi-
ciency. The assets concerned may be a group total, say, fixed assets, or it
may be an individual item, say, stocks or debtors. First we start with an
overall measure, bearing in mind the dual aspect of bookkeeping that
assets are of equal value to their sources of finance.

Turnover of capital

This ratio is usually expressed as a rate of turnover. Total sales is divided
by the amount of capital employed to find the number of times each £1
of capital employed has generated £1 of sales.

Example

A company has capital employed of £2 million and annual sales of £4 million.
Capifal employed has been turned over twice during the year. Another way of
expressing this would be to say each £1 of capital has generated £2 of sales.

. Sales £4m .
Turnover of capital = - = 2times
Capital employed £2m




Financial ratios 99

Capital employed is the total amount of issued share capital, reserves
and long-term borrowing, which is equal in value to total assets less
current liabilities. We could equally say in the above example that assets
are being turned over twice.

Turnover of fixed assets

Subsidiary ratios may relate groups of assets, or an individual asset, to
sales. In capital intensive industries it is important to measure how
many pounds of sales are generated by each £1 of fixed assets. It is possi-
ble in some industries to find the answer expressed in pence rather than
pounds, particularly when long-life assets are involved.

Example

Scottish Hydro-Electric plc in their recent group accounts had annual sales of
£951 million and tangible fixed assets of £1,548 million at the accounting
yearend, giving a turnover rate of 0.61 times. Put another way, it achieved
£0.61 sales for every £1 invested in tangible fixed assets.

Turnover of working capital

A similar calculation could be performed on working capital to identify
the velocity of circulation of each £1 of working capital when it is used
over and over again during the year. Sales turnover for the year is
divided by the amount of working capital at the year-end to calculate
this turnover rate. Alternatively, an average working capital can be used
if there is significant variation in working capital during the year.

Example
To illustrate, if sales are £4 million and working capital is £1.2 million, then the
rate of turnover of working capital is 3.3 times.

Debtors and creditors days

Turning now to individual current assets, it is more usual to relate these
to sales one by one rather than treat working capital as a total entity. If
this is done on debtors, it is common practice to invert the ratio and
multiply by 365 days. The ratio debtors/sales x 365 tells us the number of
days credit being taken by customers. Similarly, the ratio creditors/
purchases X 365 days denotes the period of credit taken from suppliers.
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Example

When annual sales are £4 million per annum, and debtors af the yearend are
£0.5 million then debitors days are £0.5 million/£4 million x 365 which equals 45
days. Assuming no marked seasonal variations in sales exist, customers are faking
45 days on average to seffle their bills. If there are significant seasonal variations in
sales, this ratio is inaccurate and sales ledger data would be needed for a more
accurate figure.

Stock turnover

Similarly the ratio stock/cost of sales X 365 days tells us the number of
days’ stock being carried.

Debtors, creditors and stocks are discussed again in Chapter 18 in
relation to the management of working capital.

SOLVENCY RATIOS (SHORT-TERM)

Previous ratios have examined the performance of a company from the
viewpoints of efficiency, both in the control of costs and in the use of its
assets, and of its profitability. In order to survive, companies must also
watch their liquidity position, by which is meant keeping enough short-
term assets to pay short-term debts. Companies go out of business
compulsorily when they fail to pay money due to employees, bankers,
or suppliers. There are two main ratios used to examine the liquidity
position of a company, namely, the quick ratio and the current ratio.

Quick ratio (acid test)

The terms acid test or quick ratio are applied because this ratio is crucial to
a company’s survival. It takes the form of liquid assets:current liabilities,
where a 1:1 ratio means a company has sufficient cash or near cash to
pay its immediate debts. Liquid assets are defined here as all the current
assets excluding stocks, which cannot quickly be converted into cash. In
effect liquid assets are debtors, cash and any short-term investments,
such as bank deposits or government securities.

Example
If a company's liquid assets are £380,000 and current liabilities are £300,000
then the resulting ratio of more than 1:1 seems satisfactory at that point in time.

The exact quick rafio is calculated from:
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. . Liquid assets
Quickrato = —— X = 1.3:1
Current liabilities

A company can survive with a liquidity ratio of less than 1:1 if it has
unused bank overdraft facilities. Any existing bank overdraft is classi-
fied as a current liability, but if not withdrawn or reduced by the bank it
should not really count as a short-term debt. Converting an existing
overdraft into a longer-term loan would also transform an adverse
liquidity ratio.

In some industries it is not unusual for stocks and work-in-progress
to be turned into cash before all creditors are due for payment. Building
construction and food retailing are cases in point where seemingly
adverse liquidity ratios pose no threat to the company.

Current ratio

This is another test of a company’s liquidity and includes stocks and
work-in progress in the current assets, on the grounds that stocks even-
tually turn into debtors, and then into cash itself. It is calculated by relat-
ing all current assets to current liabilities. A norm of 2:1 is regarded as
satisfactory in most industries but this is a somewhat arbitrary figure
and it may be a better guide to look at the norm for each particular
industry. The above points about bank overdrafts also apply as do the
ability of some firms to turn stocks into cash more quickly than others.

Example

Using the same figures as in the quick ratio but now including stocks of
£350,000, the current assets become £730,000 and the current liabilities
remain at £300,000. The current ratio of 2.4:1 indicates this company has
more than sufficient shortferm assets fo meet its shortterm debs.

. Current assets £730,000
Current ratio = — = 2.4:1
Current liabilities £300,000

A high ratio here may indicate solvency, but may also indicate poor
management of one or more of the constituent items. Unless there are
large unused cash resources in current assets, the answer to an apparent
surplus of current assets may be found in other ratios, for example, a slow
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stock turnover or high debtors days. Also, it should be remembered that
the absolute value of a particular ratio may not be as important as its trend.

SOLVENCY RATIOS (LONG-TERM)

The distinguishing features of borrowed capital as opposed to share-
holders’ capital are that borrowings must be serviced by interest
payments and repaid either in instalments, or at the end of a period of
time. There is no such legal obligation to pay dividends to owners, nor is
share capital repayable. From a long-term liquidity point of view, too
much debt is risky, as the higher the proportion of capital raised by
loans, the higher the proportion of profit going as interest.

A judicious amount of borrowed capital can be beneficial to the
shareholders and this aspect is measured below and discussed in
Chapter 16 under the heading of capital gearing. For the moment let us
examine the ratios concerned with measuring the amount of debt a
company can assume.

Debt ratio

The proportion of debt to total assets expressed as a percentage is used
to quantify the amount of debt owed by a firm. In effect, this ratio meas-
ures the proportion of assets owned by a company which is owed to
creditors of various kinds. In this context, debt includes all loans, over-
drafts, trade creditors, tax and other liabilities. The higher the percent-
age, the less willing creditors will be to extend further credit.

Gearing ratio

This measures as a percentage the proportion of all borrowing, includ-
ing long-term loans and bank overdrafts, to either the total capital
employed or the amount of equity. In the latter case, the gearing ratio is
sometimes also known as the debt/equity ratio.

Example

When tofal borrowings are £4 million and ordinary share capital plus reserves are
£16 million, then total capital employed equals £20 million. Borrowings therefore
represent either 25 per cent of equity or 20 per cent of fofal capital employed. This
level of borrowing would not be regarded as excessive but the volatility of profits in
the past must be considered before making a final judgement.
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Income cover

This is a measure of the proportion of profit taken up by interest
payments and can be found by dividing the annual interest payment
into the annual profit before interest, tax and dividend payments. The
greater the number, the less vulnerable the company will be to any
setback in profits, or rise in interest rates on variable loans. The smaller
the number, then the more risk that level of borrowing represents to the
company. A value between 5 and 10 times might be considered reason-
able, but a lot depends on how stable the profits are for a particular busi-
ness.

Example

When annual inferest is £70,000 and profit before interest is £100,000, then
income cover of only 1.4 times means that most of the profit is going in infterest
payments. Any fall in profits or rise in inferest rates will make this company vulner-
able, apart from the fact that there is very litfle left for tax payments, shareholder
dividends or reinvestment.

Profit before interest £100,000 .
Income cover = = 1.4times
Interest charges £70,000

One must also look for peculiarities in any one industry. Property devel-
opment is heavily dependent on borrowed capital and any dramatic
change in market conditions for letting can pose severe problems for the
companies concerned. Memories of the property boom and collapse
which triggered off the secondary banking crisis of the 1970s were
scarcely fading before the next property slump hit us in 1990, causing
many company collapses.

FINANCIAL INVESTMENT RATIOS

An investor looking at company shares as potential investments or, if
already a shareholder, wondering whether to continue investing, has a
range of financial ratios and statistics to consider. Most of these are
discussed in detail in Chapter 19, but a brief summary is given here for
completeness:
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market capitalization - the stock market valuation of all the
company’s shares.

earnings per share (eps) — the amount of profit earned on one ordi-
nary share.

price/earnings ratio (p/e) — the number of years’ earnings repre-
sented by the market price.

dividend yield — the yearly dividend as a percentage of the market
price of a share.

dividend cover — the number of times the profit earned covers the
dividend paid out.

net asset value (nav) — the balance sheet value of assets owned by
one share.

INTERFIRM COMPARISONS

Mention was made earlier that ratios can be used to compare aspects of
one company’s performance with competitors. It is possible to conduct
such an exercise by using the information in the published annual
accounts of similar firms. This information can be requested from the
company or more usually extracted from a database, some of which are
found in many large libraries. Alternatively, a search can be instigated at
Companies House, but this may prove expensive when a number of
companies are involved.

Some firms use an organization called the Centre for Interfirm
Comparisons and participate in a study of their industry. Financial
information, including detailed costs, is submitted in confidence and
comparative ratios 